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Question Number : 1 Question Id : 48558435516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following was not an industrial reform policy mtroduced in India in and after 19917

1. Many goods produced by small-scale industries have been dereserved

[ )

. The only industries reserved for public sector 15 a part of atomic energy generation and some core
activities in railway transport

3. Industrial licencing for private sector industries
4. In most mdustries the market has ben allowed to determine the prices

Options :

485584142061. 1
485584142062. 2
485584142063. 3
485584142064. 4

Question Number : 1 Question Id : 48558435516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

frgifea 5 9 ad 1001 § 3R T4 YR § WR: R o1 175 ieife ifa 78l 82
1. T S GRT SAIfGd Sgast avgsff & SFRET o faar g |

2. PR & & [ 3RIET 7 S URA] 3ol SdTe- &1 US (o5 3R ¥d URagd & 6 Wa

3. TR Wt (ot &= & ST & forg siiifiie s
4. RIHTY 3N & IR Bl Fiod Fefia s o s g @

Options :

485584142061. 1
485584142062. 2
485584142063. 3
4855841420064. 4

Question Number : 2 Question Id : 48558435517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




How can morbidity be prevented?

A. Ensuring safe drinking water
B. Taking good education

C. Healthy and nutrative food
D. By employment generation
E. Sanitation

Choose the correct answer from the options given below:

1. B.C. E only

| )

. A, D, E only

Lad

.A.C.E only

4.C.D.E only

Options :

485584142065. 1
485584142066. 2
485584142067. 3
485584142068. 4

Question Number : 2 Question Id : 48558435517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :
485584142065. 1
485584142066. 2



485584142067. 3
485584142068. 4

Question Number : 3 Question Id : 48558435518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following in sequence in order of their formation.

A. Green Revolution

B. First Industrial Policy Resolution
C. Karve committee

D. Planning Commission

Choose the correct answer from the options given below:

1.B.D.A.C

| ]

B.D.C.A

A B.C.D

Lad

4 B.C.AD

Options :

485584142069. 1
485584142070. 2
485584142071. 3
485584142072. 4

Question Number : 3 Question Id : 48558435518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.B.D.A.C
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Options :

485584142069. 1

485584142070. 2

485584142071. 3
485584142072. 4

Question Number : 4 Question Id : 48558435519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following of elasticities of demand m mereasing order as per geometric method.

A. Mid-Pomt of the demand curve

B. Intercept on Y-axis

C. Between Mid-Point and mtercept on X-axis
D. Between Mid-Point and intercept on Y-axis
E. Intercept on X-axis

Choose the correct answer from the options given below:

1. AB.CDE

| )

.D.B.AE.C

.B.D.A,C.E

Lad

4.E C,A.D.B

Options :

485584142073. 1
485584142074. 2
485584142075. 3
485584142076. 4



Question Number : 4 Question Id : 48558435519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142073. 1
485584142074. 2
485584142075. 3
485584142076. 4

Question Number : 5 Question Id : 48558435520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

When Central Bank buys securities. this agreement of purchase also has specification about date and price of
the resale, it 15 called:

et

. Output open market operation

[ ]

. Repo open market operation

. Coin reserve ratio

Lad

4. Reverse Repo Rate

Options :
485584142077. 1



485584142078. 2
485584142079. 3
485584142080. 4

Question Number : 5 Question Id : 48558435520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142077. 1
485584142078. 2
485584142079. 3
485584142080. 4

Question Number : 6 Question Id : 48558435521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The Government Budget has a revenue deficit this can be financed by :
A. Borrowings
B. Tax Revenue
C. Dismvestment
D. Indirect taxes
Choose the correct answer from the options given below:
1. Aand B only
2. D and C only

. A and C only

Lad

4. B and D only

Options :



485584142081. 1
485584142082. 2
485584142083. 3
485584142084. 4

Question Number : 6 Question Id : 48558435521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142081. 1
485584142082. 2
485584142083. 3
485584142084. 4

Question Number : 7 Question Id : 48558435522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

When Central Bank buys securities without any promise to sell them later, it 18 known as?

1. Repo open market operation

[ )

. Output open market operation

LFN]

. Margin Requirement

4. Reverse repo rate



Options :

485584142085. 1
485584142086. 2
485584142087. 3
485584142088. 4

Question Number : 7 Question Id : 48558435522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

485584142085. 1
485584142086. 2
485584142087. 3
485584142088. 4

Question Number : 8 Question Id : 48558435523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List I with List IT

LISTI LISTII
F.evenus Receipt I. [Increase in Liability
Capital Receipt II. [Do not increase in Asset

R.evenue Expenditure| II1. [[ncrease in Asset
Capital Expenditure | IV. [Do not increase Liability

=] [ol = e

Choose the correct answer from the options given below:

1. A-I. B-III. C-II, D-IV

| ]

CA-IV, B-L, C-IT, D-IIT
3. A-IL B-III, C-IV, D-I
4. A1 B-IV. C-II, D-III

Options :

485584142089. 1
485584142090. 2
485584142091. 3
485584142092. 4

Question Number : 8 Question Id : 48558435523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ
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1. A-L. B-III. C-1I. D-IV
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. A-IV, B-I, C-II, D-III

CA-IL B-II0. C-IV, D-I

(5]

4, A-L. B-IV, C-I1, D-III

Options :
485584142089. 1



485584142090. 2
485584142091. 3
485584142092. 4

Question Number : 9 Question Id : 48558435524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LISTI LISTIT
A Jccommodating items| [ |International purchases
B |Capital Account 1I. |Central Bank
C. [Balance of trade IIT. JAbove the line items
D. [Dirty Floating IV, |Visible items

Choose the correct answer from the options given below:
1. A-ITT. B-1. C-IV. D-II
2. A-1. B-II., C-II1., D-IV
3. A-IIL. B-IV. C-I1. D-L
4. A-TV, B-11. C-1. D-ITT

Options :

485584142093. 1
485584142094. 2
485584142095. 3
485584142096. 4

Question Number : 9 Question Id : 48558435524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. A-IIL, B-1. C-IV, D-II

Slol®|*

2. A-1. B-II. C-III. D-IV
3. A-IIT, B-1IV, C-II, D-I
4, A-IV, B-1I. C-I, D-III

Options :

485584142093. 1
485584142094. 2
485584142095. 3
485584142096. 4

Question Number : 10 Question Id : 48558435525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following events relating to India in the correct time line sequence.

AL First 'Industrial Policy Resolution'
B. "Modern Bread". a bread manufacturing firm sold to private sector
C. First phase of green revolution
D. Setting up of planning commission
Choose the correct answer from the options given below:

1.D.A.C.B

2.AD.C.B

.D,A.B.C

Lad

4 A.C.B,D

Options :
485584142097. 1
485584142098. 2



485584142099. 3
485584142100. 4

Question Number : 10 Question Id : 48558435525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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1.D.A.C.B
2ADCB
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Options :

485584142097. 1
485584142098. 2
485584142099. 3
485584142100. 4

Question Number : 11 Question Id : 48558435526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List I with List IT

LISTI LISTIT
Pradhan Mantri Jan-Dhan Yojana 1. |[Elderly people given pension by Central Government
Swarna Javanti Shahari Fozgar Yojana | 11 [Self-Employment opportunities in urban areas.
National Social Assistance Programme | II1 [Urban poor
[National Urban Livelihood Mission IV. [Encouraged to open Bank Account

=] [ol 1=

Choose the correct answer from the options given below:
1. A-I, B-IIT. C-I1. D-IV
2. ATV, B-TIL. C-I1. D-I
3. A-IV, B-I1, C-1. D-II1
4. A-1. B-1I, C-III, D-IV

Options :

485584142101. 1
485584142102. 2
485584142103. 3
485584142104. 4

Question Number : 11 Question Id : 48558435526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ
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1. A-L. B-III. C-1I. D-IV

| )

. A-IV, B-III, C-II. D-I

. A-IV, B-II, C-I, D-ITT

(5]

4, A-IL. B-II, C-III. D-IV

Options :
485584142101. 1



485584142102. 2
485584142103. 3
485584142104. 4

Question Number : 12 Question Id : 48558435527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the following in sequence in the events of happening.

A First census in India

B. The Tata Iron steel company
C. The opening of Suez canal
D. Railways 1n India

Choose the correct answer from the options given below:

1.A,C.D,B

| ]

.D,C.B.A

.D.C.A.B

L]

4 C.D.AB

Options :

485584142105. 1
485584142106. 2
485584142107. 3
485584142108. 4

Question Number : 12 Question Id : 48558435527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.AC.D.B
2.D.C.B.A
3D.C.A.B
4 C.D.A.B

Options :

485584142105. 1

485584142106. 2

485584142107. 3
485584142108. 4

Question Number : 13 Question Id : 48558435528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the main factor 1s responsible to create economic problems i society?
1. Resources are costly
2. Unlimited wants and surplus resources
3. Unlimited wants and scare resources
4. High density of population

Options :

485584142109. 1
485584142110.2
485584142111. 3
485584142112. 4

Question Number : 13 Question Id : 48558435528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142109. 1
485584142110.2
485584142111. 3
485584142112. 4

Question Number : 14 Question Id : 48558435529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Calculate operating surplus from the following.

%1 Cr)
a |Rent & Interest 30
b  |Bonus 30
c Profit After Tax 30
d |Tax rate 40%

Choose the correct option.

1.2110 Cr

[ ]

L2130 Cr

.3B0 Cr

Lad

4. 37100 Cr

Options :

485584142113. 1
485584142114.2
485584142115. 3
485584142116. 4

Question Number : 14 Question Id : 48558435529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1



Question Key Details :

Key 'Value

Comprehension MCQ
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Options :

485584142113. 1
485584142114.2
485584142115.3
485584142116. 4

Question Number : 15 Question Id : 48558435530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Given a Cash Reserve Ratio (CRR) being 20%. the value of the money multiplier will be

1.3
2.20
3. 10
4.5

Options :

485584142117. 1

485584142118. 2

485584142119. 3
485584142120. 4



Question Number : 15 Question Id : 48558435530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142117. 1
485584142118.2
485584142119.3
485584142120. 4

Question Number : 16 Question Id : 48558435531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the correct example of Revenue Expenditure.
1. Excise duty
2. Post office savings Accounts
3. Payment of salary to staff of government hospital
4. Recovery of loans

Options :

485584142121. 1
485584142122.2
485584142123. 3
485584142124. 4

Question Number : 16 Question Id : 48558435531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142121. 1
485584142122.2
485584142123. 3
485584142124. 4
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Question Number : 17 Question Id : 48558435532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the sequence of events in the correct order relating to a quantitative tool used by the central bank
during the times of nflation.

A. Hence the money supply in the economy decreases

B. As a result. loans taken by commercial banks become more expensive
C. The central bank increases the bank rate

D. This reduces the reserves held by the commereial banks

Choose the correct answer from the options given below:

1.B.C.A.D

| )

.C.B.D.A

A B, C.D

Lad

4 D.B.AC

Options :

485584142125. 1
485584142126. 2
485584142127. 3
485584142128. 4

Question Number : 17 Question Id : 48558435532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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IMCQ

HeRHId & 901 b9 dob GRI W& HETdES Jidd I Hald Haifed o 9l o 4 orafeyd Bifeu
A. 3faud srforaeyr § eyl vedl g

B. 5U® Bed&1, aiiuiicdd ! gIRT ford 710 B 07 3ifds 381 81 oid o |
C. $T dF dp I¢ g6l Sl g

D. 599 Baaed aiuifeds gof gRT uiid Rf&fT ae Srdi g |

= fu e fasedl § 9 ¥el SR FHT

1.B.C.A. D
2.C.,B,D.A
JABCD
4. D.B.A.C
Options :
485584142125. 1
485584142126.2

485584142127. 3
485584142128. 4

Question Number : 18 Question Id : 48558435533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List T with List IT
LISTI LISTII
A |Stocks I. |[Expected constant loss in value of a capital
B. [Flows II. [Unexpected destruction of capital
C. |Depreciation | II1 [Have time dimension
D. |Capital loss IV. [Do not have any time dimension

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

2. A-IV. B-IILL C-1. D-II

3. A-IIT, B-IV. C-I1, D-I

4. A-IV, B-II1, C-II, D-I

Options :
485584142129. 1
485584142130. 2




485584142131.3
485584142132. 4

Question Number : 18 Question Id : 48558435533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

T | 3T g | w g e

LISTI LISTII
e I [dolt & 5 H GArad FRaR g
Udie 1. [gofl &1 YR ¥4 9 ¥ gH1

e 111 599 T &1 T Bl &
Uoi @i g | IV, [59H 991 &1 3 el il §

@9 BT T Tawedt F § wEr 39t g

of o[ e[

1. A-I. B-II. C-III. D-IV

| ]

CA-TV, B-IILL. C-1. D-IT

AL B-IV. C-IL D-I

(%]

4. A-IV, B-III, C-IL, D-I

Options :

485584142129. 1
485584142130. 2
485584142131. 3
485584142132. 4

Question Number : 19 Question Id : 48558435534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Arrange the following events in a sequence of its happening.

A. Reforms in Pakistan

B. Great Proletarian Cultural Revolution
C. Commune system

D. Pakistan's First Frve year plan

E. China's Twelfth Five Year Plan

Choose the correct answer from the options given below:

1.C.,D,.B.AE

| )

C,DLAB.E

E.B.A.C.D

Lad

4 ADCBE

Options :

485584142133. 1
485584142134.2
485584142135. 3
485584142136. 4

Question Number : 19 Question Id : 48558435534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

FFHifded gersll &1 39 uied 814 & %0 & aieyd $ifoln

A. I § guR

B. Hgl HUed IR HSpiad A<l
C. WHarel H

D. GIip&d- Di YuH G=ayiy g

E. =11 ®1 gRedl G=aNg drel

3 fau o faeedi & @ wd SR IR

1.C.D.B.AE

2.C.D.A.B.E

3.3EEB.A.C.D

4. A D.C.B.E
Options :

485584142133. 1
485584142134.2



485584142135.3
485584142136. 4

Question Number : 20 Question Id : 48558435535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Formal sector establishment are those establishment that employs ?

1. 20 hired workers or more

| )

. 20 hired worlers or less
3. 10 hired workers or more
4. 10 hired worleers or less

Options :

485584142137. 1
485584142138. 2
485584142139. 3
485584142140. 4

Question Number : 20 Question Id : 48558435535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ST &7 51 R H T8 R i § set
1. 20 T1 39 P Yt i (Iord foar siran g
2. 20 T1 39S Y it 1 FHaifer fear smar g

10 T 3T e yftre ot Fifora far orar @

4,10 U1 39 &1 it &1 i fomar wmar &

LS

Options :

485584142137. 1
485584142138.2
485584142139. 3
485584142140. 4

Question Number : 21 Question Id : 48558435536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1



Question Key Details :

Key 'Value

Comprehension MCQ

Which of the following are operating in the informal sector of the country?

A. Cycle-rickshaw puller

B. Civil engineer in a government construction enterprises

C. Cook 1n a hostel which employs nine hired workers

D. Private school teacher in a school which has eleven hired teachers.
E. Farmer cultivating his plot of land

Choose the correct answer from the options given below:

1. B, and C only

| )

. A and D only

Lad

.A.Band D only

4. A C and E only

Options :

485584142141. 1
485584142142.2
485584142143. 3
485584142144. 4

Question Number : 21 Question Id : 48558435536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Fgifed 89 o 39 & ARG &3 5 rivd 87
A UEHd -RHl 9adh
B. fdl WeR! ya= Fafn gum § sriva fafeq sifidar
c. o U SEa™ &1 9isaT og! Al dHOR Haifed &

D. ol il faemera o1 wper Rier form 1 sreamaas Faifera @
E. 30T 4fH & wile § Wl HdIel $9D

= fu e fasedl § 9 ¥el SR FHT
1. Had B, and C

. PHdd Aand D

3. $dd A, Band D

4. HITA. CandE

| )



Options :

485584142141. 1
485584142142.2
485584142143.3
485584142144. 4

Question Number : 22 Question Id : 48558435537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s not a central problem of an economy?
1. What to produce more ?
2. How much of which resource to be used ?
3. How to imcrease resources ?
4. Distribution of final produce among the individuals.

Options :

485584142145. 1
485584142146.2
485584142147. 3
485584142148. 4

Question Number : 22 Question Id : 48558435537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

frmfera & @ o it srforawn & e v 181 §
1. forg =ite &1 3R @i Iare fear a2
2. oo TaeA foaA sifeie waT faear s
3. TameEl H S g fasar e
4. gt § fdH IdTe P faawo 2

Options :

485584142145. 1
485584142146.2
485584142147. 3
485584142148. 4



Question Number : 23 Question Id : 48558435538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Calculate the factor income from Abroad from the following.

(% in core)
(a) [|NNP at market price 550
(b) Net Indirect taxes 30
ic) NVA at factor cost 340
idy Factor income to Abroad 30

1. 70 Crore
2. 390 Crore
3. 330 Crore

4, 50 Crore

Options :

485584142149. 1
485584142150. 2
485584142151. 3
485584142152. 4

Question Number : 23 Question Id : 48558435538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Fgifed & O 33w © ues Mg &1 uRead Sieig

@S T H)

(a) [€F9TR @ WU T Ul 550

(b) |fIeeT 3Har &Y 30

() |[PREAFTWRTAGT 540

(d) |fac=H g3 PR Y 50

i< fau e faeedi § ¥ g8l SR AT

1L 70PS .

2,00 TS 3.

3.30 PSS 2.

4. 50 TS 3,

Options :

485584142149. 1
485584142150. 2
485584142151.3
485584142152 4

Question Number : 24 Question Id : 48558435539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A fall in Bank rate can increase the

—

. Money supply

 Liability

[ ]

3.G.D.P
4. Reverse Repo Rate

Options :

485584142153. 1
485584142154.2
485584142155. 3
485584142156. 4

Question Number : 24 Question Id : 48558435539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

39 R ¥ fiR@e o & pawed s 3 fra o it ?

1. ATl

2. g

3. 9hd U 3dme (Sl 31U
4. Rad Yar¥e

Options :

485584142153. 1
485584142154. 2
485584142155. 3
485584142156. 4

Question Number : 25 Question Id : 48558435540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the correct formula of calculating of domestic income by Expenditure Method.

1. GDPyp = PFCE + GFCE + NDCF - NE

| S

. GDPyp =PFCE - GFCE + GDCF - NE

Lad

. GDPyqp = PFCE + GFCE + GDCF + NE
4. GDP,p = PFCE - GFCE - NDCF + NE

Options :

485584142157. 1
485584142158. 2
485584142159. 3
485584142160. 4

Question Number : 25 Question Id : 48558435540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




o At ERT U 310 & uRe e Hatl 98! 93 o fgiferd Bifey

1. GDPyp = PFCE + GFCE + NDCF - NE

[ )

. GDPyp = PFCE - GFCE + GDCF - NE

L]

. GDPyp = PFCE + GFCE + GDCF + NE
4. GDPyp = PFCE - GFCE - NDCF + NE

Options :

485584142157. 1
485584142158.2
485584142159. 3
485584142160. 4

Question Number : 26 Question Id : 48558435541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 15 not true about a commercial Bank?

1. Assets = Reserves + Loans

[ )

. Net worth = Assets -Liabilities
3. Liabilities = Loans
4. Deposits = Assets - Net worth

Options :

485584142161. 1
485584142162.2
485584142163. 3
485584142164. 4

Question Number : 26 Question Id : 48558435541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




aiftfsu® §& & §R H Fyifed § 9 ©F 9 Y[ 981 98 ¢

1. gfEufn = RfEd + B
2. Faa geu = ufiufmar - Saan
3. oA =30
4. &Y = 31l — Hae geg

Options :

485584142161. 1

485584142162. 2

485584142163. 3
485584142164. 4

Question Number : 27 Question Id : 48558435542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Flexible exchange rate 15 determined by:

1.RBI

| )

. Govt
3. Market forces
4. IMF

Options :

485584142165. 1
485584142166. 2
485584142167. 3
485584142168. 4

Question Number : 27 Question Id : 48558435542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




AraeR Aoy aR &1 sayRon fad gr fea a8
1. YRoH Rerd d
2 PR
3. 9ISIR &1 Wfekal
4. HRREHT GT 1Y (375 TH TH)

Options :

485584142165. 1
485584142166. 2
485584142167. 3
485584142168. 4

Question Number : 28 Question Id : 48558435543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII
A |Self -reliance | I |Increase in Production
B. Modernisation | II. |Avoiding imports
C. |Growth IT1. |Benefits to rich and poor
D. [Equitv IV. [Adopting new technology

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| )

CA-TV, B-IIIL. C-I1, D-I
3. A-IL B-IV, C-1, D-III
4. AL B-1. C-IL. D-IV

Options :

485584142169. 1
485584142170. 2
485584142171. 3
485584142172. 4

Question Number : 28 Question Id : 48558435543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehension |MCQ

AT 1 3R ! 11 BT gHferd iy
TqAt 1 Tt 11
A | EMEREl | L | SAEAH TG
B. |aryf@ur | IL | 3ard &1 URER
c |afz IIL | 4 R TRi9 SH1 &1 ugfaund @)
D. | gfdet IV. | 3 Wit &1 3=
- fau T faeedi § € 981 SR g

1. A-L. B-II, C-III. D-IV

| )

A-IV, B-III, C-II, D-I

A-IL B-IV, C-I, D-III

L]

4. A-ITL, B-1, C-I1. D-IV

Options :

485584142169. 1
485584142170. 2
485584142171. 3
485584142172. 4

Question Number : 29 Question Id : 48558435544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Those group who regularly moves in and out of poverty are known as

1. Churning poor

| )

. Chronic poor
3. Occasionally poor
4. Never poor

Options :

485584142173. 1
485584142174.2
485584142175. 3
485584142176. 4

Question Number : 29 Question Id : 48558435544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U 995 & (aiid dR R a1 8 31d § SR dqa S agR Mo od 8. 35 delaais. |
1. et fad=
2. FeRepTferes Fea
3. @l - BaR g
4, it ot el 78t

Options :

485584142173. 1
485584142174.2
485584142175. 3
485584142176. 4

Question Number : 30 Question Id : 48558435545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Full form of IBRD
1. Indian Bank for Reconstruction
2. Indian Bank for Rural Development
3. International Bank for Rural Development
4, International Bank for Reconstruction and Development

Options :

485584142177. 1
485584142178. 2
485584142179. 3
485584142180. 4

Question Number : 30 Question Id : 48558435545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




375 A 3R S &1 9T &:
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s

Options :

485584142177. 1
485584142178. 2
485584142179. 3
485584142180. 4

Question Number : 31 Question Id : 48558435546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s studied under micro economics?

1. National Income of a country

| )

. Condition of unemployment
3. Textile industry
4. Revenue deficit of the country

Options :

485584142181. 1
485584142182.2
485584142183. 3
485584142184. 4

Question Number : 31 Question Id : 48558435546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Y& R (ATSE! gEHIHaT) & Harta Feifea 3 © frge sreg= fama s g2
L. fordit S i gy sy
2. SRS @] fufd
3. 9% QM

4. 39 &I oL °Iel

Options :

485584142181. 1
485584142182.2
485584142183. 3
485584142184. 4

Question Number : 32 Question Id : 48558435547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Calculate compensation of employees from the following items:

Items Ferm
Crores

Profit after tax 20
Interest 45
GDPyp 200
Goods and service tax |10
Depreciation a0
Rent 25

Corporate tax

Choose the correct option.

1. 45 Cores

2. 42 Cores

3. 50 Cores

4. 44 Cores
Options :
485584142185. 1
485584142186. 2

485584142187. 3
485584142188. 4



Question Number : 32 Question Id : 48558435547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
i el ¥ SHaral ®1 @ud o1 RS Bi;
e ST ||
[ch¥ UHId o+ 20
(Profit after tax) i
EE 45

G Sl g O 200
] SR Ya1 B 10
TR 50

fop=ran 25
BRUNE P 5
e faeed i+

1. 45 S

2 TS

350 PRIS

4. 44 TS

Options :

485584142185. 1
485584142186. 2
485584142187. 3
485584142188. 4

Question Number : 33 Question Id : 48558435548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which statement is not related to Normative Economics?

—

. It prescribes norms of welfare of the society

[ )

. It regulates in order to achieve idealised norms

LFN]

. It explains ideal situation and gives policy preseriptions explicitly
4. It explains actual behavior of economic agents

Options :

485584142189. 1
485584142190. 2
485584142191. 3
485584142192. 4

Question Number : 33 Question Id : 48558435548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fraiferd & & & W FuF vfomH! srefura 8 ey T8 g 2
1. 598 IA S & wfaar fafed e srar g1
2. 7% sexifod ufom= &t wity &1 fafafig s=ars)
3. 599 37exf fufy ©f coren of ordl § 3R Wy w4 3 Hifg-detl Fufve aul @1 Swka giar gl
4. 599 fdfe fiemalel & aafds SIasR & oIl &1 oidl g |

Options :

485584142189. 1
485584142190. 2
485584142191. 3
485584142192. 4

Question Number : 34 Question Id : 48558435549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following are to be considered while Measuring Fiscal Deficit?

A. Capital expenditure
B. Revenue receipts

C. Debt creating receipts
D. Revenue expenditure
E. Deficit on current A/c

Choose the correct answer from the options given below:

1. A. B and C only

| )

. A BandD only

Lad

.A.BandE only

4. A D and E only

Options :

485584142193. 1
485584142194. 2
485584142195. 3
485584142196. 4

Question Number : 34 Question Id : 48558435549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TNy uel & FEifpd 3 P itar Gorsmars 2

A. GuiliTd ooy
B. 391G wiferi
C. 01 o el wrftei
D. Yol g
E. 91 @Idl § °Tel
= fu e fasedl § 9 ¥el SR FHT
1. HITA. B IR C
2. PGAA. B AR D
3. I A. B ARE

4. BAAA. D ARE

Options :
485584142193. 1
485584142194.2



485584142195.3
485584142196. 4

Question Number : 35 Question Id : 48558435550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s not true about Public goods?

1. Benefit are available to all

| )

. May be produced by private sector
3. Benefit not exclude anyone from enjoying the benefits

4. Available free to users

Options :

485584142197. 1
485584142198. 2
485584142199. 3
485584142200. 4

Question Number : 35 Question Id : 48558435550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

rauie a%] & IR § Fgifed ¥ 3 SF 9 YT 961 161 6
1. it 1 pgfdeny Suas gl 5 |
2. Toit &7 g1 S 1 51 b 8|
3. Tt orgfaren Forrs) ot ot oafaia &1 wgfaensit & oy @ o 7t e o 21
4. 9 SUMTaIsi & H-Yew Suds gial o

Options :

485584142197. 1
485584142198. 2
485584142199. 3
485584142200. 4

Question Number : 36 Question Id : 48558435551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1



Question Key Details :

Key 'Value

Comprehension MCQ

Exchange Rate is the price of a currency expressed in terms of,

1. Gold rates of other country

[ )

. Another currency
3. Income of the country
4. FDI from other country

Options :

485584142201. 1
485584142202. 2
485584142203. 3
485584142204. 4

Question Number : 36 Question Id : 48558435551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142201. 1
485584142202. 2
485584142203. 3
485584142204. 4

Question Number : 37 Question Id : 48558435552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The International Bank for Reconstruction and Development (IBRD) is popularly known as

1. State Bank of India

[ )

. Reserve Bank Of India

LFN]

. World Bank
4. International Monetary Fund

Options :

485584142205. 1
485584142206. 2
485584142207. 3
485584142208. 4

Question Number : 37 Question Id : 48558435552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142205. 1

485584142206. 2

485584142207. 3
485584142208. 4
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Question Number : 38 Question Id : 48558435553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




"Human Resource Development was necessarily to be assigned a key role in any development strategy.
particularly in a country with a large population” which of the following five year plane states?

1. 50 Five year plan

[ ]

. 6™ Five year plan

LFN]

. 7™ Five year plan

=N

. 8™ Five year plan

Options :

485584142209. 1
485584142210. 2
485584142211.3
485584142212. 4

Question Number : 38 Question Id : 48558435553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142209. 1

485584142210. 2

485584142211. 3
485584142212 4

| S

Question Number : 39 Question Id : 48558435554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Full form of FII.

1. Foreign Indirect Investment

[ )

. Foreign International Income

LFN]

. Foreign Indirect Investors
4. Foreign Institutional Investors

Options :

485584142213. 1
485584142214.2
485584142215. 3
485584142216. 4

Question Number : 39 Question Id : 48558435554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U 3T 3T (FII) BT 9RT T1H &1 87
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3. [ag=l smce Fow® (BIRA Seae gawd)
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Options :

485584142213. 1
485584142214.2
485584142215. 3
485584142216. 4

Question Number : 40 Question Id : 48558435555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following statements relate to physical capital?

AL Tt 1s intangible

B. It 1s tangible

C. It creates only private benefit

D. Owner of physical capital needs to be present at the place where it 1s used
E. It can easily be sold in the market

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.A.Dand E only

4. B. C and E only

Options :

485584142217. 1
485584142218.2
485584142219. 3
485584142220. 4

Question Number : 40 Question Id : 48558435555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Fifed o 9 & 9 oy Uiide Yoil 9 96iid 52
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Options :



485584142217. 1
485584142218. 2
485584142219. 3
485584142220. 4

Sub-Section Number : 2
Sub-Section Id : 4855842635
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 41 Question Id : 48558435556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

The quantity of a good that the consumer chooses can merease or decrease with the rise in the price of a
related goods depending on whether the two goods are substitutes or complementary to each other. Goods
which are consumed together are called complementary goods. Examples of goods which are complement to
each other include tea and sugar. shoes and socks. pen and ink, ete. Since tea and sugar are used together, an
increase in the price of sugar 1s likely to decrease the demand for tea and decrease in the price of sugar 18
likely to mncrease the demand for tea. Similar 1s the case with other complements. In general. the demand for a
good moves in the opposite direction of the price of its complementary goods.

The goods which can be used in place of each other are called ?

1. Normal goods

[ )

. Complementary goods
3. Substitute goods

4, Giffen goods

Options :

485584142221. 1
485584142222.2
485584142223. 3
485584142224. 4

Question Number : 41 Question Id : 48558435556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :

485584142221. 1
485584142222.2
485584142223. 3
485584142224. 4

Question Number : 42 Question Id : 48558435557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

The quantity of a good that the consumer chooses can increase or decrease with the rise in the price of a
related goods depending on whether the two goods are substitutes or complementary to each other. Goods
which are consumed together are called complementary goods. Examples of goods which are complement to
each other include tea and sugar. shoes and socks. pen and ink, ete. Since tea and sugar are used together, an
increase in the price of sugar is likely to decrease the demand for tea and decrease in the price of sugar is
likely to increase the demand for tea. Similar 1s the case with other complements. In general. the demand for a
good moves in the opposite direction of the price of its complementary goods.



The demand for a good moves n opposite direction if change m the price of its

1. Complementary goods

| )

. Substitute goods
3. Inferior goods
4. Consumption goods

Options :

485584142225. 1
485584142226.2
485584142227. 3
485584142228. 4

Question Number : 42 Question Id : 48558435557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Options :

485584142225. 1
485584142226.2
485584142227. 3
485584142228. 4

Question Number : 43 Question Id : 48558435558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

The quantity of a good that the consumer chooses can increase or decrease with the rise in the price of a
related goods depending on whether the two goods are substitutes or complementary to each other. Goods
which are consumed together are called complementary goods. Examples of goods which are complement to
each other include tea and sugar. shoes and socks. pen and ink, ete. Since tea and sugar are used together, an
increase in the price of sugar is likely to decrease the demand for tea and decrease in the price of sugar is
likely to increase the demand for tea. Similar 1s the case with other complements. In general. the demand for a
good moves in the opposite direction of the price of its complementary goods.

If the price of coffee mereases then consumption of tea also mcreases it implies that tea and coffee are

1. Substitute good

[

. Giffen good
3. Complementary good
4. Perishable good

Options :

485584142229. 1
485584142230. 2
485584142231. 3
485584142232. 4

Question Number : 43 Question Id : 48558435558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Options :

485584142229. 1
485584142230. 2
485584142231. 3
485584142232. 4

Question Number : 44 Question Id : 48558435559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

The quantity of a good that the consumer chooses can merease or decrease with the rise in the price of a
related goods depending on whether the two goods are substitutes or complementary to each other. Goods
which are consumed together are called complementary goods. Examples of goods which are complement to
each other include tea and sugar. shoes and socks. pen and ink, ete. Since tea and sugar are used together, an
increase in the price of sugar is likely to decrease the demand for tea and decrease in the price of sugar is
likely to increase the demand for tea. Similar 1s the case with other complements. In general. the demand for a
good moves in the opposite direction of the price of its complementary goods.

Car and petrol are the example of goods .

1. Normal goods

[ )

. Inferior goods
3. Substitute goods
4. Complementary goods

Options :

485584142233. 1
485584142234. 2
485584142235. 3
485584142236. 4

Question Number : 44 Question Id : 48558435559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key 'Value

Comprehension Compl
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Options :

485584142233. 1
485584142234.2
485584142235. 3
485584142236. 4

Question Number : 45 Question Id : 48558435560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

The quantity of a good that the consumer chooses can increase or decrease with the rise in the price of a
related goods depending on whether the two goods are substitutes or complementary to each other. Goods
which are consumed together are called complementary goods. Examples of goods which are complement to
each other include tea and sugar. shoes and socks. pen and ink, ete. Since tea and sugar are used together, an
increase in the price of sugar is likely to decrease the demand for tea and decrease in the price of sugar is
likely to increase the demand for tea. Similar 1s the case with other complements. In general. the demand for a
good moves in the opposite direction of the price of its complementary goods.



Those goods which can be used together are called goods .

1. Substitute goods
2. Complementary goods
3. Consumption goods
4. Capital goods

Options :

485584142237. 1

485584142238. 2

485584142239. 3
485584142240. 4

Question Number : 45 Question Id : 48558435560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Options :

485584142237. 1

485584142238. 2

485584142239. 3

485584142240. 4

Sub-Section Number : 3
Sub-Section Id : 4855842636
Question Shuffling Allowed : No



Is Section Default? : null

Question Number : 46 Question Id : 48558435561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

When at a particular price level. aggregate demand for final goods equals aggregate supply of final goods, the
tinal goods or product i market reaches its equilibrium. Aggregate demand for final goods consist of ex-ante
consumption. ex-ante investment, government spending etc. The rate of inerease m ex-ante consumption due

to a umit increase i income is called marginal propensity to consume.

Equilibrium in product market achieved when.

1.AD=AS

[ )

.AD>AS
3.AD < AS
4.8>1

Options :

485584142241. 1
485584142242.2
485584142243. 3
485584142244. 4

Question Number : 46 Question Id : 48558435561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2
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1. AD=AS
2. AD = AS
3.AD < AS
4.8>=1

Options :

485584142241. 1
485584142242. 2
485584142243. 3
485584142244. 4

Question Number : 47 Question Id : 48558435562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

When at a particular price level, aggregate demand for final goods equals aggregate supply of final goods, the
tinal goods or product in market reaches its equilibrium. Aggregate demand for final goods consist of ex-ante
consumption. ex-ante investment, government spending ete. The rate of increase in ex-ante consumption due

to a unit increase in income is called marginal propensity to consume.

Final goods are those goods.
1. Which are used in the process of production
2. Which are used as an intermediate good
3. Which are purchased for the purpose of reselling in the same year
4, Which are either used for consumption or for investment

Options :

485584142245. 1
485584142246. 2
485584142247. 3
485584142248. 4

Question Number : 47 Question Id : 48558435562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Options :

485584142245 1
485584142246. 2
485584142247. 3
485584142248. 4

Question Number : 48 Question Id : 48558435563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

When at a particular price level. aggregate demand for final goods equals aggregate supply of final goods, the
tinal goods or product i market reaches its equilibrium. Aggregate demand for final goods consist of ex-ante
consumption. ex-ante investment, government spending etc. The rate of inerease m ex-ante consumption due

to a umit increase i income is called marginal propensity to consume.

Aggregate demand for final goods doesn't include.

1. Consumption

[ ]

. Saving

LFN]

. Investment
4, Government spendings

Options :

485584142249. 1
485584142250. 2
485584142251. 3



485584142252. 4

Question Number : 48 Question Id : 48558435563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Options :

485584142249. 1
485584142250. 2
485584142251. 3
485584142252. 4
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Question Number : 49 Question Id : 48558435564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

When at a particular price level, agegregate demand for final goods equals aggregate supply of final goods, the
final goods or product in market reaches its equilibrium. Aggregate demand for final goods consist of ex-ante
consumption, ex-ante investment, government spending ete, The rate of increase in ex-ante consumption due

to a unit increase in income is called marginal propensity to consume.



MPC stands for.
1. Marginal Propensity to Converse
2. Marginal Propensity to Consume
3. Marginal Propensity to Compensate
4. Marginal Propensity to correction
Options :
485584142253. 1
485584142254. 2

485584142255. 3
485584142256. 4

Question Number : 49 Question Id : 48558435564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2
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Options :

485584142253. 1
485584142254.2
485584142255. 3
485584142256. 4

Question Number : 50 Question Id : 48558435565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :



Key Value

Comprehension Comp2

When at a particular price level, agegregate demand for final goods equals aggregate supply of final goods, the
final goods or product in market reaches its equilibrium. Aggregate demand for final goods consist of ex-ante
consumption, ex-ante investment, government spending ete, The rate of increase in ex-ante consumption due

to a unit increase in income is called marginal propensity to consume.

The sum total of MPC and MPS is always equal to:

1. Zero

[ ]

. Infinity
3. One
4, Two

Options :

485584142257. 1
485584142258.2
485584142259. 3
485584142260. 4

Question Number : 50 Question Id : 48558435565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

o fob et fa=Ty Heu &R O SifdH U 8GR J1d @1 Pl SA1Yfd & FHH ikl 8 l aTsiR H TUR Hid a1
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Options :
485584142257. 1



485584142258. 2
485584142259. 3
485584142260. 4
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Group Minimum Duration : 45
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Group Marks : 200
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Fine Arts
Section Id : 485584927
Section Number : 1
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Number of Questions : 50
Number of Questions to be attempted : 40
Section Marks : 200
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Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 48558435566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI

Who 1s the artist of the mimature painting "Maru Ragini” ?

1. Aniruddha Singh

| )

. Abul Hasan
3. Sahibdin
4, Nuruddin

Options :



485584142261. 1
485584142262. 2
485584142263. 3
485584142264. 4

Question Number : 51 Question Id : 48558435566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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2. HGA G
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Options :

485584142261. 1
485584142262. 2
485584142263. 3
485584142264. 4

[ %]

Question Number : 52 Question Id : 48558435567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

The mixture of two colours Blue and Yellow 15 :

1. Purple

[ )

. Green
3. Red
4, Brown

Options :

485584142265. 1
485584142266. 2
485584142267. 3
485584142268. 4



Question Number : 52 Question Id : 48558435567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI

e 3R drar T F gy e .
1. ST
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4

Options :

485584142265. 1
485584142266. 2
485584142267. 3
485584142268. 4

Question Number : 53 Question Id : 48558435568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQIl

The "Maru Ragini" is taken from which particular text series 7

1. Bhagvata Purana

[ )

. Gita Govinda
3. Ragamala
4. Chaurpanchashika

Options :

485584142269. 1
485584142270. 2
485584142271. 3
485584142272. 4

Question Number : 53 Question Id : 48558435568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1
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Options :

485584142269. 1
485584142270. 2
485584142271. 3
485584142272. 4

| B

L]

Question Number : 54 Question Id : 48558435569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI

"The Marriage Procession of Dara Shikoh" paimnting was pamted during which period ?

1. Babur

|

. Akbar
3. Jahangir

4, Shah Jahan

Options :

485584142273. 1
485584142274. 2
485584142275. 3
485584142276. 4

Question Number : 54 Question Id : 48558435569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI
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Options :

485584142273. 1
485584142274. 2
485584142275. 3
485584142276. 4

Question Number : 55 Question Id : 48558435570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

Identify the first Indian painter who was trained in the Western technique of o1l painting and got inspired by
Indian culture and mythology ?

1. Abanindranath Tagore
2. Rabindranath Tagore
3. Raja Ravi Varma

4. M. F. Husain

Options :

485584142277. 1
485584142278. 2
485584142279. 3
485584142280. 4

Question Number : 55 Question Id : 48558435570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1
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Options :

485584142277. 1
485584142278. 2
485584142279. 3
485584142280. 4

Question Number : 56 Question Id : 48558435571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1

Which element of art displays a strong suggestion of movement that can be delicate, bold or expressive ?

1. Line

| )

. Colour
3. Shape

4, Tone

Options :

485584142281. 1
485584142282. 2
485584142283. 3
485584142284. 4

Question Number : 56 Question Id : 48558435571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1
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Options :

485584142281. 1
485584142282.2
485584142283. 3
485584142284. 4

Question Number : 57 Question Id : 48558435572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

What 15 the medium of the painting "Radhika” ?

1. Acrylic on canvas

[ )

. il on canvas

LFN]

. Wash and Tempera on paper
4, Water colour on paper

Options :

485584142285. 1
485584142286. 2
485584142287. 3
485584142288. 4

Question Number : 57 Question Id : 48558435572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI
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Options :

485584142285. 1
485584142286. 2
485584142287. 3
485584142288. 4

Question Number : 58 Question Id : 48558435573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

The chapter related to Art in Vishnudharmottara Purana ?

1. Rang Sutra

[ )

. Chitrasutra
3. Abhinay Sutra

4. Kala Sutra

Options :

485584142289. 1
485584142290. 2
485584142291. 3
485584142292. 4

Question Number : 58 Question Id : 48558435573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142289. 1
485584142290. 2
485584142291. 3
485584142292. 4

Question Number : 59 Question Id : 48558435574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1

The famous illustrated text 'Kalpasutra' belongs to which religion ?
1. Baudh
2. Vaishnava
3. Jan
4. Shaiva

Options :

485584142293. 1
485584142294. 2
485584142295. 3
485584142296. 4

Question Number : 59 Question Id : 48558435574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1
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Options :

485584142293. 1
485584142294. 2
485584142295. 3
485584142296. 4

Question Number : 60 Question Id : 48558435575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

Baramasa was the popular theme of which painting style ?
1. Mughal
2. Bundi
3. Kishangarh
4. Pahan

Options :

485584142297. 1
485584142298. 2
485584142299. 3
485584142300. 4

Question Number : 60 Question Id : 48558435575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142297. 1
485584142298. 2
485584142299. 3
485584142300. 4

Question Number : 61 Question Id : 48558435576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ1
During 16th century which painting style of miniature was developed ?

1. Marwadi

| ]

. Bundi

. Mughal

Lad

4. Rajasthani

Options :

485584142301. 1
485584142302. 2
485584142303. 3
485584142304. 4

Question Number : 61 Question Id : 48558435576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142301. 1
485584142302. 2
485584142303. 3
485584142304. 4

Question Number : 62 Question Id : 48558435577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

The technique of the painting "Tiller of Soil" 15 :

1. Oil on canvas

[ )

. 01l pastels

LFN]

. Ink on paper
4, Watercolour wash and tempera

Options :

485584142305. 1
485584142306. 2
485584142307. 3
485584142308. 4

Question Number : 62 Question Id : 48558435577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI
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Options :

485584142305. 1
485584142306. 2
485584142307. 3
485584142308. 4

Question Number : 63 Question Id : 48558435578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI

Which of these 1s a famous pamting of Nihal Chand ?

1. Radha Govind

[ )

. Chausar player
3. Thani Thani

4, Bami Tham

Options :

485584142309. 1
485584142310. 2
485584142311.3
485584142312. 4

Question Number : 63 Question Id : 48558435578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI
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Options :

485584142309. 1
485584142310. 2
485584142311.3
485584142312. 4

Question Number : 64 Question Id : 48558435579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

Seals were found during which period ?

1. Gupta Period

| B

. Indus Valley Civilization
3. Mughal Period

4. Mathura Civilization

Options :

485584142313. 1
485584142314.2
485584142315. 3
485584142316. 4

Question Number : 64 Question Id : 48558435579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142313. 1
485584142314.2
485584142315. 3
485584142316. 4

Question Number : 65 Question Id : 48558435580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI

Who 1s the artist of pamnting "Radhika" ?

1. Kshitindranath Majumdar

[ )

. Abdul Rehman Chughtai
3. Abanindranath Tagore
4. Nandalal Bose

Options :

485584142317. 1
485584142318. 2
485584142319. 3
485584142320. 4

Question Number : 65 Question Id : 48558435580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1
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Options :

485584142317. 1
485584142318.2
485584142319. 3
485584142320. 4

Question Number : 66 Question Id : 48558435581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI

Warli paintings are traditionally painted on earthen walls with :

1. Maida

[ )

. Wheat flour
3. Rice flour

4, Natural mineral colours

Options :

485584142321. 1
485584142322.2
485584142323. 3
485584142324. 4

Question Number : 66 Question Id : 48558435581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142321. 1
485584142322.2
485584142323. 3
485584142324. 4

Question Number : 67 Question Id : 48558435582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1

The traditional art 'Pichhwati' 1s originated from ?

1. Jammu

| )

. Kolkata
3. Dwarka
4, Nathdwara

Options :

485584142325. 1
485584142326.2
485584142327. 3
485584142328. 4

Question Number : 67 Question Id : 48558435582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142325. 1
485584142326. 2
485584142327. 3
485584142328. 4

Question Number : 68 Question Id : 48558435583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

Who painted the painting "Noah's Ark" ?

1. Ustad Mansur

| )

. Miskin
3. Farrukh Beg

4, Basawan

Options :

485584142329. 1
485584142330. 2
485584142331. 3
485584142332. 4

Question Number : 68 Question Id : 48558435583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142329. 1
485584142330. 2
485584142331. 3
485584142332. 4

Question Number : 69 Question Id : 48558435584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

The illustrated 'Kalkacharyakatha' manuseript is from which of the following art School?

1. Mughal School

[ )

. Pala School
3. Pahari School

4. Jain School

Options :

485584142333. 1
485584142334.2
485584142335. 3
485584142336. 4

Question Number : 69 Question Id : 48558435584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142333. 1
485584142334.2
485584142335. 3
485584142336. 4

Question Number : 70 Question Id : 48558435585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

Which of the following Painting was created by "Jamimi Roy" ?

1. Black Bear

[ )

. Black Horse
3. Black Cat

4. Black Elephant

Options :

485584142337. 1
485584142338.2
485584142339. 3
485584142340. 4

Question Number : 70 Question Id : 48558435585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI
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Options :

485584142337. 1
485584142338.2
485584142339. 3
485584142340. 4

Question Number : 71 Question Id : 48558435586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

During which Mughal Emperor's rule, maximum number of historical scenes were painted ?

1. Babur

[ )

. Humayun
3. Shah Jahan
4. Alcbar

Options :

485584142341. 1
485584142342.2
485584142343. 3
485584142344. 4

Question Number : 71 Question Id : 48558435586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142341. 1
485584142342. 2
485584142343. 3
485584142344. 4

Question Number : 72 Question Id : 48558435587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1

Red Fort Delhi 1s the famous architecture made under the reign of which Mughal Ruler ?
1. Aurangzeb

. Shah Jahan

| )

3. Jahangir
4. Humayun

Options :

485584142345. 1
485584142346. 2
485584142347. 3
485584142348. 4

Question Number : 72 Question Id : 48558435587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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Options :

485584142345. 1
485584142346. 2
485584142347. 3
485584142348. 4

Question Number : 73 Question Id : 48558435588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI

"Krishna Lifts mount Govardhan” is taken from which religious text ?

1. Ramayana

|

.Raslila
3. Harivamsa Purana

4, Mahabharat

Options :

485584142349. 1
485584142350. 2
485584142351. 3
485584142352. 4

Question Number : 73 Question Id : 48558435588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQI
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4. TETHRA
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Options :

485584142349. 1
485584142350. 2
485584142351. 3
485584142352. 4

Question Number : 74 Question Id : 48558435589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1

The person who makes Dhokra sculptures are called :

1. Ghadwa

| )

. Loharu
3. Sarpanch
4. Pujari

Options :

485584142353. 1
485584142354.2
485584142355 3
485584142356. 4

Question Number : 74 Question Id : 48558435589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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3. U
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Options :

485584142353. 1
485584142354. 2
485584142355. 3
485584142356. 4

Question Number : 75 Question Id : 48558435590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQL1

The Sarnath Lion Capital is the finest example of which of the following art ?

1. Mughal Art

| )

. Deccen Art

Lad

. Mauryan Art
4. Gupta Art

Options :

485584142357. 1
485584142358.2
485584142359. 3
485584142360. 4

Question Number : 75 Question Id : 48558435590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ1
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T el
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Options :

485584142357. 1
485584142358. 2
485584142359. 3
485584142360. 4

ot

| )

L]

Sub-Section Number : 2
Sub-Section Id : 4855842638
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 76 Question Id : 48558435591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension Compl




Observe the image and answer the question :

Identify the year in which this image was made
1. 1905
2. 1909
3. 1906

4. 1901

Options :

485584142361. 1
485584142362. 2
485584142363. 3
485584142364. 4

Question Number : 76 Question Id : 48558435591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl




7 31 o= 3 2RA 3R Uy &1 3T S|

gy &f ggaru i 54 g & g mar un

1. 1905

o]

. 1909
3. 1906

4, 1901

Options :

485584142361. 1
485584142362. 2
485584142363. 3
485584142364. 4

Question Number : 77 Question Id : 48558435592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehension |Comp 1

Observe the image and answer the question :

Who among the following 1s the artist of this 1image ?
1. Jamini Roy
2. Raja Harsh Varma
3. Nandalal Bose
4. Raja Ravi Varma

Options :

485584142365. 1
485584142366. 2
485584142367. 3
485584142368. 4

Question Number : 77 Question Id : 48558435592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehension |Comp 1
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Options :

485584142365. 1
485584142366. 2
485584142367. 3
485584142368. 4

Question Number : 78 Question Id : 48558435593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Compl

Observe the image and answer the question :

Identify the title of this image :

1. Krishna as child
2. Krishna as envoy
3. Krishna as soldier
4. Krishna as king

Options :

485584142369. 1

485584142370. 2

485584142371.3
485584142372. 4

Question Number : 78 Question Id : 48558435593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension Compl
Tort 1 1 SRaU SR Uy &1 SR Sife|

59 foa @1 2ide ggarful
1. §T0-%9 T |

2. 3d-S9 H Py
3. dA®-3Y H
4. 120 H P

Options :

485584142369. 1
485584142370. 2
485584142371. 3
485584142372. 4



Question Number : 79 Question Id : 48558435594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Observe the image and answer the question :

Identify the medium of this image :

1. Planography
2. Screen printing
3. Oleograph
4. Aquatint

Options :

485584142373. 1

485584142374.2

485584142375. 3
485584142376. 4



Question Number : 79 Question Id : 48558435594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
21 @1 e W SRAU SR Uy &1 SR i
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1. HAACE! S{Tea (W)
2. STAROT R0 (Fo1 T
3. O9 SATERE (3fferauTs)
4. UapIfce
Options :
485584142373. 1

485584142374.2
485584142375.3




485584142376. 4

Question Number : 80 Question Id : 48558435595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Observe the image and answer the question :

Where 1s this image located ?
1. National Gallery of Modern Art. Bengaluru
2. National Museum, New Delhi
3. National Gallery of Modern Art, New Delhi
4. National Gallery of Modern Art. Mumbai
Options :
485584142377. 1

485584142378. 2
485584142379. 3




485584142380. 4

Question Number : 80 Question Id : 48558435595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
Tort 1 o1 U SRAT 3R U4 1 SR i

e foA Tel safud 82
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2. P HUgIer, s faeel!
3. AP 3YfIe e ardl, g ool
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Options :
485584142377. 1




485584142378. 2
485584142379. 3
485584142380. 4

Sub-Section Number : 3
Sub-Section Id : 4855842639
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 81 Question Id : 48558435596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

Observe the image and answer the question :

Identify the style of the image :
1. Kalamkari
2. Pattachitra
3. Kalighat

4. Mithila

Options :

485584142381. 1
485584142382.2
485584142383. 3
485584142384. 4

Question Number : 81 Question Id : 48558435596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp?2
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3. Prarde
4, fafdren

Options :

485584142381. 1
485584142382.2
485584142383. 3
485584142384. 4

Question Number : 82 Question Id : 48558435597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2




Observe the image and answer the question :

This style of painting belongs to which State?
1. Uttar Pradesh
2. Bengal
3. Maharashtra

4. Bihar

Options :

485584142385. 1
485584142386. 2
485584142387. 3
485584142388. 4

Question Number : 82 Question Id : 48558435597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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2. §7d
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Options :

485584142385. 1
485584142386. 2
485584142387. 3
485584142388. 4

Question Number : 83 Question Id : 48558435598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension Comp2




Observe the image and answer the question :

This style is also known as :
1. Wall pamnting
2. Madhubani
3. Pichwai
4. Mural painting

Options :

485584142389. 1
485584142390. 2
485584142391. 3
485584142392. 4

Question Number : 83 Question Id : 48558435598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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1. fHfy feear

2. AYE
3. fiwag
4. B femean

Options :

485584142389. 1
485584142390. 2
485584142391. 3
485584142392. 4

Question Number : 84 Question Id : 48558435599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension Comp?2




Observe the image and answer the question :

At what place this 1s pamnted ?
1. Inside Northern part
2. At the Gate of the house
3. Inside room
4, Eastern part of outside

Options :

485584142393. 1
485584142394. 2
485584142395. 3
485584142396. 4

Question Number : 84 Question Id : 48558435599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Options :

485584142393. 1
485584142394. 2
485584142395. 3
485584142396. 4

Question Number : 85 Question Id : 48558435600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension Comp2




Observe the image and answer the question :

Who creates this image ?

1. Women only

[ ]

. Girls only
3. Head of the house
4. Pujari only

Options :

485584142397. 1
485584142398. 2
485584142399. 3
485584142400. 4

Question Number : 85 Question Id : 48558435600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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1. Sad Afgand
2. ad asfear
3. Sad - el
4. &ad YRl

Options :

485584142397. 1

485584142398. 2

485584142399. 3
485584142400. 4

Sub-Section Number : 4
Sub-Section Id : 4855842640
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 86 Question Id : 48558435601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




Arrange the following Art Groups in chronological order according to their formation.

A. Delhi Shilpi Chakra
B. Group 1890

C. Calcutta Group

D. Progressive Group
E. Baroda Group

Choose the correct answer from the options given below :

1.LE.B.C.A.D

| )

A C.D,B.E

.B.A.C.D.E

Lad

4 C.D.AE.B

Options :

485584142401. 1
485584142402. 2
485584142403. 3
485584142404. 4

Question Number : 86 Question Id : 48558435601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
Fafiad SareRl & gl ®f 396 164 & SHTHR DIArHiNe HH § Iaiyd Sifu)
A, o Rredt =h
B. dHE 1890
C. ool dHg
D. ™ é%i@!ﬂﬂ;@’

E. §Sial 9HE
- f4U T faedl § € 91 IR 1 99 SBiuig:
1.E.B.C.A.D
2.A.C,D,B,E
3.B.A.C.D.E
4.C.D,A.E.B
Options :

485584142401. 1
485584142402. 2



485584142403. 3
485584142404. 4

Question Number : 87 Question Id : 48558435602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

Arrange the following artists m chronological order according to thewr arrival in India.

A. Daswant

B. Abul Hasan

C. Mir Sayyid Al

D. Ustad Farquitullah Khan
E. Bihzad

Choose the correct answer from the options given below :

1. AB.CDE

| ]

.D.B.C.AE

.E.C.ABD

Lad

4. B.CEDA

Options :

485584142405. 1
485584142406. 2
485584142407. 3
485584142408. 4

Question Number : 87 Question Id : 48558435602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2
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E. fagvig
4 fau U fawedl § ¥ Tl IR &1 99 Bifeld:

1. AB.CD.E

2.DB,CAE
3. E.CABD
4. B.C.ED.A

Options :

485584142405. 1
485584142406. 2
485584142407. 3
485584142408. 4

Question Number : 88 Question Id : 48558435603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

Arrange the the following manuseripts in chronological order according to their existance.

A. Bhagvata Purana

B. Nizam-ul-Mulk

C. Nujum-al-Ulum

D. Sufi poem

E. Tanf-1-Hussam Shalu

Choose the correct answer from the options given below :

1. AB.CDE

| )

.E.C.D.BA

.B.CCADE

Lad

4. D.CAEB

Options :
4855841424009. 1
485584142410. 2



485584142411. 3
485584142412. 4

Question Number : 88 Question Id : 48558435603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

frafefad arugfaftal &1 Se! faemd & 3R STIarhad HF H ogdied o1

A, HETad QRI0T
B. FeH-3d-geb
C. Jo[-3d-3gH
D. &1 75H

E. AR U g Qe
i fau e f[deedl | ¥ 9ol 3R &1 994 dIiu;

1. AB.C.D.E

| )

.E.CD.BA
3.B.CADE
4. D.CAEB

Options :

485584142409. 1
485584142410.2
485584142411. 3
485584142412. 4

Question Number : 89 Question Id : 48558435604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




Arrange the artworks in chronological order according to their creation.

AL Tiller of the Soil
B. Rasa Lila

C. Radhika

D. City in the night
E. Journey's End

Choose the correct answer from the options given below :

I.B.C.ADE

| )

.D.C.E.A.B

.C.D.BAE

Lad

4 ADEB.C

Options :

485584142413. 1
485584142414.2
485584142415. 3
485584142416. 4

Question Number : 89 Question Id : 48558435604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

FAfRad SarGiaal B 376! AT S I & HTHR DIATsh® HH T aeyd B

A. TeeR 3ite gisie (g Siia- areeyes)
B. Jrgciar

C. T

D. {4l 57 2 A1ge (B TR)

E. S U8 (U1 &1 JHIGT)

A fau e fawed! # ¥ Uel 3T &1 909 Si:

1. B.CLAD.E

[ ]

.D.CE.AB
3.C.D.BAE
4. ADEB.C
Options :

485584142413. 1
485584142414. 2



485584142415.3
485584142416. 4

Question Number : 90 Question Id : 48558435605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

Given below are two statements :

Statement I : Shilpa and Vastu Shastras are related, Shilpa Shastras deal with arts and crafts such as formmg
Statues. Icons, Murals. Painting. Carpentry. Pottery, Jewellery, Dying, Textiles and others.

Statement IT : Vastu Shastras deal with Building Architecture-Building Houses. Forts. Temples, Apartments,
Village and Town Layout, ete.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement I are correct

[ ]

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement IT 1s incorrect

Statement I is incorrect but Statement IT 1s correct

Options :

485584142417. 1
485584142418.2
485584142419. 3
485584142420. 4

Question Number : 90 Question Id : 48558435605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2
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Options :

485584142417. 1
485584142418.2
485584142419. 3
485584142420. 4

Question Number : 91 Question Id : 48558435606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

Pattachitra are traditionally done in ?

A. West Bengal
B. Tamil Nadu
C. Kerala

D. Odisha

Choose the correct answer from the options given below :

1.B & C Only
2.A&D Oaly
3.C & D Only

4.B & D Only



Options :

485584142421. 1
485584142422.2
485584142423. 3
485584142424. 4

Question Number : 91 Question Id : 48558435606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

Tz TR T EEEIUE IR
A Oigm §1d
B. dftiaTg
C. I
D. 3fifsam
T 34U 77U fasedl 9 Ug] S) &1 99 Bifeu;
1. $adB 3R C
2. FaA A IRD
3. %H9dC IRD

4. HIAB AR D

Options :

485584142421. 1
485584142422.2
485584142423. 3
485584142424. 4

Question Number : 92 Question Id : 48558435607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




These are the famous paintings of Bundi School :

A Krishna supporting mount Govardhan
B. Raga Dipak

C. Ashwin, Baramasa

D. Maru Ragini

Choose the correct answer from the options given below :
1. B & C Only
2. A& B Only
3.C & D Only
4.B & D Ounly

Options :

485584142425. 1
485584142426. 2
485584142427. 3
485584142428. 4

Question Number : 92 Question Id : 48558435607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ?2

7t gt Oelt B UG s o

A TGt ydd &1 9gRT &d §U $W
B. I &I9H

C. YA, SRea™T

D. H1% A

i fau [deedl § T 981 3R &1 904 DifeIu:
1. $aAB 3R C
2. Pad A IR B
3.%dd C 3R D
4. $aAB AR D

Options :

485584142425. 1
485584142426.2
485584142427. 3
485584142428. 4




Question Number : 93 Question Id : 48558435608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ?2

The Hamza Nama was created under the supervision of 7

AL Mir Sayyid Ali
B. Abd us Samad
C. Adil Shah
D. Qutb Shah

Choose the correct answer from the options given below :

1. B & C Only

| ]

. A & B Only

¥]

3.C & D Only
4.B & D Ounly

Options :

485584142429. 1
485584142430. 2
485584142431. 3
485584142432. 4

Question Number : 93 Question Id : 48558435608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




STSTHTHT S a1 [T THaem & 3=id &f 78 4

A. TR 3oe 3t
B. s 39 IS
C. 3ff¢a e
D. $dd e

- U fg@ent | 9 Tel SR &1 997 S -
1. $aaB AR C
2.%dd A 3R B
3.%ad C IR D
4. PTAB ARD

Options :

485584142429. 1
485584142430. 2
485584142431.3
485584142432. 4

Question Number : 94 Question Id : 48558435609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ?2

Select the points which describes best the "Noah's ark" ?

A. Bright red colours

B. Bright colour palette

C. Use of pure white and subtle shades of red
D. Blue and yellow 15 used

Choose the correct answer from the options given below :

l.Aand B
2.Band C
3.Cand D
4. Dand A

Options :

485584142433. 1

485584142434.2

485584142435.3
485584142436. 4



Question Number : 94 Question Id : 48558435609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ?2

*I61 1 31" BI FawH (Al F qUiH B arel feg3il &1 987 Bifu

A. FCRId A T

B. gedial 102 HT

C. 9SS 40 SR A9 & HTTGEA T F1 Wa
D. FieT 7R diel We ©

- fou faedt # O 96l 3R @1 904 DI
1. Had A AR B
2. $adB AR C
3.%ad C IR D
4. $TAD AR A

Options :

485584142433. 1
485584142434.2
485584142435. 3
485584142436. 4

Question Number : 95 Question Id : 48558435610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ?2




Which of the following statements are correct regarding Paintings :

A. Kamasutra written by Vatsayana mentions about 64 kinds of paintings.

B. The Vishnudharmottara purana has a section on pamting called Chitrasutra.

C. The play Mudrarakshasa mentions numerous Patas.

D. Lepyacitras. lekhacitras are example of various types of painting of Gupta era.

Choose the most appropriate answer from the options given below :
1. A and B Only
2.B and C Only
3. Cand D Only

4. A, Cand D Only

Options :

485584142437. 1
485584142438.2
485584142439. 3
485584142440. 4

Question Number : 95 Question Id : 48558435610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ?2

ferEaer sl & wrew H FufaRad oAl 5 9 o1 sl 62
A, AT GRI T PIHYA 64 UBR DI (G AISH BT Jeeid dIdl gl
B. fqwiem TR qR101 & el UR FEa g §H aTdl U |us g |

C. QERI&™ ATCeh 3T UZ] Pl Jeeid Bl 6| )
D. il &1 (A1 YR 1 sl & 3aevl duf 3R o= & |

i fau [deedl § T 981 3R &1 904 DifeIu:
1. ad A R B
2. PIAB AR C
3.%dd C 3R D
4. PTAA, C IR D

Options :

485584142437. 1
485584142438.2
485584142439. 3
485584142440. 4



Question Number : 96 Question Id : 48558435611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ?2

Match List I with List IT

LISTI LISTII
A |Stone carving | 1. |Printing
B. |Canvas 1L [Sculpture
C. [Etching I11. [Faster
D. |Photoshop IV |Painting

Choose the correct answer from the options given below:
1. A-IV. B-II. C-II1. D-I
2. AT, B-IV, C-1. D-1T1
3. A-L B-I1, C-I1. D-IV
4. A-IIT. B-IV. C-1. D-IT

Options :

485584142441. 1
485584142442.2
485584142443. 3
485584142444. 4

Question Number : 96 Question Id : 48558435611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ?2
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1. A-IV, B-II, C-III. D-I

=l el ool i

| ]

CA-IL B-IV, C-I, D-III

CA-I B-III, C-II. D-IV

[#S]

4, A-IIL B-IV, C-I, D-II

Options :

485584142441. 1
485584142442. 2
485584142443. 3
485584142444. 4

Question Number : 97 Question Id : 48558435612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2

Match List I with List IT

LISTI LISTII
A |Tbrahim Adil Shah I. |Golconda
B. |Raga Hindola II. [Hyderabad
C. Hazrat Nizamuddin Auliva and Amir Khusro| II1. |[Ahmednagar
D |Chand Bibi Playing Polo IV |[Byapur

Choose the correct answer from the options given below:
1. A-III, B-1. C-I1, D-IV
2. A-IL B-IV, C-1, D-III
3. A-L B-III. C-1I, D-IV
4. A-IV, B-III, C-II. D-I
Options :
485584142445. 1

485584142446. 2
485584142447. 3



485584142448. 4

Question Number : 97 Question Id : 48558435612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
! 1 61 gl 11 8 fie Sifon
1 gt o
A. EeTiEH 3ffcd T8 O I
B. R Bl 1. [geXrdlg
C. [FoRd HoHe A e/ 3R SR @ER)| 111 [s3EHeFR
D. [gidl Weidl g3 dlg aidl IV. [STomR
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1. A-III, B-1. C-II. D-IV

| ]

CA-IL B-IV, C-I, D-ITT

A-L B-III, C-II. D-IV

[#5]

4. A-IV, B-1II. C-II. D-I

Options :

485584142445. 1
485584142446. 2
485584142447. 3
485584142448. 4

Question Number : 98 Question Id : 48558435613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ2




Match List I with List IT

1ISTI LISTII
Standing Woman | I [Jamini Roy
Children II. [N.5. Bendre
Mother and Child| II1. |[Dhanra; Bhagat]
Gossip IV |Somnath Hore

ofefw[>

Choose the correct answer from the options given below:
1. A-IV. B-I, C-II. D-III
2. AT, B-IV, C-1. D-1T1
3. A-IIL. B-IV. C-1, D-II
4. A-IV. B-III., C-II. D-I

Options :

485584142449. 1
485584142450. 2
485584142451. 3
485584142452 4

Question Number : 98 Question Id : 48558435613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
a1 1 61 I 11 8 e Sifey
T 1 T I

A [@digs afeal| L [anfii g

B. [g= I [i4.79. 8=

C. [ dART=n | [y Wi

D. o= IV. [FiETy B8R

Frafeiad faeedl © I 9gl STk &1 90+ HiflU -

1. A-IV, B-I, C-II, D-III

| ]

CA-IL B-IV, C-I, D-III

AL B-IV. C-1, D-I1

[#S]

4. A-IV. B-1II, C-II, D-I

Options :

485584142449. 1
485584142450. 2
485584142451.3



485584142452. 4

Question Number : 99 Question Id : 48558435614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ?2

Match List I with List IT

LISTI LISTII
A |Pramana I. |[Expressions
B. [Sadrishym II. [Use of brush and colours
C. |[Bhava IT1. [Resemblance
D. |Varnikabhanga | IV. |Proportion

Choose the correct answer from the options given below:
1. A-IV, B-IIL, C-I, D-II
2. A-TIL B-IV. C-1. D-TI
3. A-IV. B-I, C-II. D-ITI
4. A-IIL B-IV, C-I. D-II

Options :

485584142453 1
485584142454.2
485584142455. 3
485584142456. 4

Question Number : 99 Question Id : 48558435614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ?2
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A
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1. A-IV, B-I1I, C-1. D-II

| ]

AL B-IV, C-I, D-I1

. A-IV, B-I, C-II, D-III

[#S]

4, A-IIL B-IV, C-I, D-II

Options :

485584142453. 1
485584142454. 2
485584142455. 3
485584142456. 4

Question Number : 100 Question Id : 48558435615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

Match List I with List IT

LISTI LISTII
A [Nihal Chand I. Mughal School of Painting
B. |Basawan II. |Guler School of Painting
C. [Nainsukh IT1. |Bikaner School of Painting
D [Ruknuddin IV |[Kishangarh School of Painting

Choose the correct answer from the options given below:
1. A-IV, B-I, C-II, D-ITT
2. A-IIL B-1IL C-IV, D-I
3. AL B-IIIL, C-1, D-IV
4. A-IV. B-11, C-I, D-IIT
Options :
485584142457. 1

485584142458. 2
485584142459. 3



485584142460. 4

Question Number : 100 Question Id : 48558435615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

T 197 31 11 ¥ fHaH i
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B. [g4maH 11 |FFear &1 7o 2l

C._HTgd 1L [EE@dl ®l Sid-R A

D. RaEH IV. [eEddl & e el

frafatad fawedt § I 96t S &1 997 DI -

1. A-IV, B-I, C-II, D-III

| ]

AL B-IL C-IV, D-I

A-IL B-1II. C-L. D-IV

[#5]

4. A-IV. B-1I. C-I, D-III

Options :

485584142457. 1
485584142458.2
485584142459. 3
485584142460. 4
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Question Number : 101 Question Id : 48558435616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Griffith Taylor mtroduced m human geography.

1. Environmental determinism
2. Neo determinism

3. Possibilism

4. Post-modernism

Options :

485584142461. 1
485584142462. 2
485584142463. 3
485584142464. 4

Question Number : 101 Question Id : 48558435616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142461. 1
485584142462. 2
485584142463. 3
485584142464. 4

Question Number : 102 Question Id : 48558435617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

18 NOT the part of Economic Geography.

1. Business Studies
2. Agricultural Sciences

. Resource Economics

L]

4, Welfare Economics

Options :

485584142465. 1
485584142466. 2
485584142467. 3
485584142468. 4

Question Number : 102 Question Id : 48558435617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Nfifes 1ira BT UAT AR B
1. YIRS 3T
2. P fagm
3. T 31 WG

4. FregTuT e

Options :

485584142465. 1
485584142466. 2
485584142467. 3
485584142468. 4



Question Number : 103 Question Id : 48558435618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
The highest proportion of the total water 1s used in the country in sector.

1. Industries

| )

Irrigation
3. Domestic use
4. Electricity production

Options :

485584142469. 1
485584142470. 2
485584142471. 3
485584142472. 4

Question Number : 103 Question Id : 48558435618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

wd A S SH od o9 B S Swad
1. 3
2. Rimrg
3. O SUANT
4. faggd SameA

Options :

485584142469. 1
485584142470. 2
485584142471.3
485584142472. 4

Question Number : 104 Question Id : 48558435619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




continent has highest density of population.

1. Europe

| ]

. Afriea

. Asgia

L]

4. South America

Options :

485584142473. 1
485584142474.2
485584142475. 3
485584142476. 4

Question Number : 104 Question Id : 48558435619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142473. 1
485584142474. 2
485584142475. 3
485584142476. 4
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Question Number : 105 Question Id : 48558435620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




18 NOT directed for spatial target areas development.

1. Marginal Farmers Development Agency

| ]

. Desert development programme

L]

. Command area development programme
4. Hill area development programme

Options :

485584142477. 1
485584142478. 2
485584142479. 3
485584142480. 4

Question Number : 105 Question Id : 48558435620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142477. 1
485584142478. 2
485584142479. 3
485584142480. 4

Question Number : 106 Question Id : 48558435621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




tribal community lives in Bharmaur region,

1. Gonds

| ]

. Bluls

. Santhals

L]

4. Gaddis

Options :

485584142481. 1
485584142482.2
485584142483. 3
485584142484. 4

Question Number : 106 Question Id : 48558435621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

SIS SHER HRAR &7 § e $rar g |
1.7S
2. Hid
3. QYA
4.7

Options :

485584142481. 1
485584142482.2
485584142483. 3
485584142484. 4

Question Number : 107 Question Id : 48558435622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




In mulk 1s supplied through pipelines from farms to factories.

1. Denmark

[ )

.USA
3. Australia
4. New Zealand

Options :

485584142485. 1
485584142486. 2
485584142487. 3
485584142488. 4

Question Number : 107 Question Id : 48558435622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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2.J04Y
3. SR fer

4, oids

Options :

485584142485. 1
485584142486. 2
485584142487. 3
485584142488. 4

Question Number : 108 Question Id : 48558435623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




1s a conventional source of energy.

1. Coal

| ]

. Tidal energy

L]

. Solar energy
4. Geo-Thermal energy

Options :

485584142489. 1
485584142490. 2
485584142491. 3
485584142492. 4

Question Number : 108 Question Id : 48558435623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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1. PIga
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3. 9R
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Options :

485584142489. 1
485584142490. 2
485584142491. 3
485584142492. 4

Question Number : 109 Question Id : 48558435624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




workers are known as "Gold Collar Professionals”,

[a—y

. Quaternary activities

| ]

. Tertiary activities

L]

. Quinary activities
4. Outsourcing

Options :

485584142493. 1
485584142494. 2
485584142495. 3
485584142496. 4

Question Number : 109 Question Id : 48558435624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142493. 1
485584142494. 2
485584142495. 3
485584142496. 4

Question Number : 110 Question Id : 48558435625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




approach was proposed by the International Labour Organisation.

[a—y

. Capability Approach

| ]

. Welfare Approach

L]

. Basic Needs Approach
4. Income Approach

Options :

485584142497. 1
485584142498. 2
485584142499. 3
485584142500. 4

Question Number : 110 Question Id : 48558435625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TURTH 1 TG STRIP 47 7o+ 7 faar up
1. &HdI SUFTH

2. I JUTTH

3. gfardl saRge dr SunTH

4. AT 3UNTH

Options :

485584142497. 1
485584142498. 2
485584142499. 3
485584142500. 4

Question Number : 111 Question Id : 48558435626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify scholar. who voiced his concern about the growing scarcity of resources as compared to the human
population.

1. Gniffith Taylor

| ]

. Robert Malthus

. Ratzel

L]

4. Karl Marx

Options :

485584142501. 1
485584142502. 2
485584142503. 3
485584142504. 4

Question Number : 111 Question Id : 48558435626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

[ fagT - A oFSe & qa-l 8 SareHi &1 dgdl ol & g & f=Hdl oad 31 o7
1. T eeR
2. JT&E HIRH
3. Yo
4. Tdl O

Options :

485584142501. 1
485584142502. 2
485584142503. 3
485584142504. 4

Question Number : 112 Question Id : 48558435627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




18 NOT a tertiary activity,

1. Trade activities

| ]

. Services in government offices

L]

. Dairy farming
4. Transport activities

Options :

485584142505. 1
485584142506. 2
485584142507. 3
485584142508. 4

Question Number : 112 Question Id : 48558435627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

_ US gdias® sedd Agl g
1. IR HHaY
2. IRSHRT Hratadr § Jarg
3. Sudl wifH
4. gRaE PRIHAY

Options :

485584142505. 1
485584142506. 2
485584142507. 3
485584142508. 4

Question Number : 113 Question Id : 48558435628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the major cause of female migration in India.

1. Employment

[ )

. Education
3. Marriage
4. Health care

Options :

485584142509. 1
485584142510. 2
485584142511. 3
485584142512. 4

Question Number : 113 Question Id : 48558435628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

YR H Tl Uag- & & HRUI B UgaH B |
1. AR
 TRnaq
faa®
4. WY W
Options :
485584142509. 1
485584142510. 2

485584142511.3
485584142512. 4

[ ]

Lad

Question Number : 114 Question Id : 48558435629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Hill Area Development Programme was launched during five year plan.

1. Third

[ )

. Fourth
3. Fifth
4. Sixth

Options :

485584142513. 1
485584142514.2
485584142515. 3
485584142516. 4

Question Number : 114 Question Id : 48558435629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

eyl Aei1 § ygTs! &4 [dord SrishH Y% a1 77 o)
1. dred
2. el
3. Gigdt
4.8l

Options :

485584142513. 1
485584142514.2
485584142515. 3
485584142516. 4

Question Number : 115 Question Id : 48558435630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




has officially proclaimed the Gross National Happiness Index as the measure of the country's
progress.

1. Nepal
2. Bangladesh
3. Srilanka

4, Bhutan

Options :

485584142517. 1
485584142518.2
485584142519. 3
485584142520. 4

Question Number : 115 Question Id : 48558435630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A uSd Uy S ESS @ USRS 9 Y 2 S Wi o 470 & =9 H it fear g
L. T
2. 9@
R IGE)
4. YcH

Options :

485584142517. 1
485584142518. 2
485584142519. 3
485584142520. 4

Question Number : 116 Question Id : 48558435631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Arrange the following major sea ports of the world from North to South.

A. New York
B. London

C. North Cape
D. Durban

Choose the correct answer from the options given below:
1.C.D.B.A
2.C.D.A.B
3.C.B.D. A
4. C.B.AD

Options :

485584142521. 1
485584142522.2
485584142523. 3
485584142524. 4

Question Number : 116 Question Id : 48558435631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

frafafgd vaE Tdl @es! 31 IR U Sfém & %y § ouafiyd Sif:
A, qgTd
B. @gH
c. 1 &Y
D. &
i feu U fas el § Oet 3 &1 904 Sifg|

1.C.D.B.A

| )

.C.D.A.B
3.C.B.D.A
4.C.B.A.D

Options :

485584142521. 1
485584142522. 2
485584142523. 3
485584142524. 4




Question Number : 117 Question Id : 48558435632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Match List I with List IT

LISTI LISTII
Agricultural System Region/Countries

Mixed farming I. | Mediterranean region
E. | Dairy farming II. | North-Western Europe
C. }»'Eed_iterranean ITI. | New Zealand and Tasmania

Agriculture

s . | Southern coast of Europe and

D. | Viticulture IV North Africa

Choose the correct answer from the options given below:

1. A-I. B-1I, C-IV, D-ITII

| ]

CA-IL B-IV, C-1, D-III

CA-TLL BAIILL C-IV, D-I

Lad

4. A-L. B-II, C-III, D-IV

Options :

485584142525 1
485584142526. 2
485584142527. 3
485584142528. 4

Question Number : 117 Question Id : 48558435632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




a1 1 61 I 11 8 e Sifey

&I e 11
YT gome RECR
fifig =t L |y mearriy &=
LRI I | eR-uigH 1
YHETR S| 1L [ efic’s iR aerar
R®IWA | IV, [ g3 1 el 9 Ut I Ei]

Slol®|*

afdRad faeedl 9 U U8l 3R &1 984 DIy -
1. A-L B-IL. C-IV, D-III
2. A-IL B-IV, C-L. D-III
3. A-IL, B-TMI, C-IV, D-I
4. A-L B-IL C-IIL D-IV

Options :

485584142525. 1
485584142526.2
485584142527. 3
485584142528. 4

Question Number : 118 Question Id : 48558435633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List I with List IT

LISTI LISTII
(:Factur(sl ic;it‘lﬂll-]gui;iﬂ:;]):mla tion (Examples)
A | Pleasant climate [. | Katanga-Zambia
B. | Minerals II. | The Ganga - plains
C. | Industrialization III. | Mediterranean regions
D. | Landscape and landforms IV. | Kobe - Osaka region of Japan

Choose the correct answer from the options given below:

1. A-III, B-11, C-L, D-IV

bJ

CA-IL B-1L C-IV. D-II

AL B-IV. C-1. D-IT

Lad

4. A-1. B-II, C-I1. D-IV

Options :

485584142529. 1
485584142530. 2
485584142531. 3
485584142532. 4

Question Number : 118 Question Id : 48558435633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




a1 1 61 I 11 8 e Sifey

T T I
@Eram;w%ﬁmm$ —
A | gEg weEg L @&t
B. |@fae IL | T EeET &F
c. | serfiam I1L | {HEER &3
D. | vy 3R ey IV. | SO 1 $id- 3T &3

FafeiRad [deedl § U Ul 3 &l 994 BT ;
1. A-IIL B-IL. C-I. D-IV
2. AL, B-I, C-IV, D-II

AL B-IV, C-1, D-I1

[ 5]

4, A-L B-II. C-III. D-IV

Options :

485584142529. 1
485584142530. 2
485584142531. 3
485584142532. 4

Question Number : 119 Question Id : 48558435634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Characteristics of Urban Marketing Centres are usually -

A. Widely specialized urban services

B. Offer manufactured goods as well as many specialized markets
C. Have only retail trading centres

D. Have services of educational institutions and professionals

E. Trading centres of the most rudimentary type

Choose the correct answer from the options given below:

1. A. B and D only

| )

.A. CandE only

Lad

.B. C and E only
4.D. A and E only

Options :

4855841425331
485584142534.2
485584142535. 3
485584142536. 4

Question Number : 119 Question Id : 48558435634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

913 A9 digl @t IrHod: fGRudi § -

A. oIU® =4 4, faf¥ied g dan

B. fafATHa aegsi &l a1 Wﬁfﬁ‘@@mwm D1 YaH D]
C. 2O T guT coamiis! 1 Hard g

D. AMUR &gl & gaiidd sfgwrei- UoR

= f3u TTu faeerdl & ¥ 9ed 3B ygw 3R & 999 DI
1. %ad A, B 3R D
2. %ad A. C 3R E
3. $ad B, C 3R E
4, HaA D, ARE

Options :

4855841425331
485584142534.2
4855841425353



485584142536. 4

Question Number : 120 Question Id : 48558435635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Arrange the events in order of land transport development:

. Animals were used as beasts of burden

. Invention of wheel. use of carts and wagons
. railway line development and transport

. Human beings as carriers

b =

e Lad

Choose the correct answer from the options given below:
1.D,A.B.C
2.8, BB, C

.D,.B.A.C

Lad

4 A DCB

Options :

485584142537. 1
485584142538.2
485584142539. 3
485584142540. 4

Question Number : 120 Question Id : 48558435635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




frafefad gesif of YfE uRae fded & wF § oafud Sifeg

1. U3 T IUTRT &151 S & D1d § fohar & e
2. Ofgd &1 TR, derms! aul 914 fSas! &1 Sugm
3. 07 W15 B [ab 1 qUT URde-

4. G digdl b &9 H

- fau Y famed! & ¥ Tel 3R & 904 S

1.D.AB.C

2ADB.C
3.D.B.A.C
4. A D.C.B

Options :

485584142537. 1
485584142538. 2
485584142539. 3
485584142540. 4

Question Number : 121 Question Id : 48558435636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Match List I with List IT

LIST I LISTII
Regional Trade Blocks Head%z::]t;]t::igosting
A [ASEAN I | Belgium
B. | OPEC II. | Uruguay
C. |EU IT1. | Indonesia
D. |LAIA IV | Austria

Choose the correct answer from the options given below:

1. A-IV., B-IIIL, C-IL. D-I

[ ]

CA-L B-1IIL C-IV. D-III

CACIT B-ILL C-IL D-IV

(%]

4. A-IIL. B-IV, C-I. D-II



Options :

485584142541. 1
485584142542.2
485584142543. 3
485584142544. 4

Question Number : 121 Question Id : 48558435636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

=1 1 1 =1 11 ¥ fBeH Sifeu

1 Geiiil
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A | sfEH I |sfcss

B. | 3@ 1 | 3o

C. 3.3 11 | SeHfEm

D. |Ua. U 3mE. T |1V | anfeean

fFafaRad fosedl § O 9el 3R & 994 BHifou
1. A-TV. B-ITI, C-I1. D-1
2. A-L B-II. C-IV, D-III

AL B-II, C-1L D-IV

L]

4, A-ITL B-IV, C-I, D-II

Options :

485584142541. 1
485584142542. 2
485584142543. 3
485584142544. 4

Question Number : 122 Question Id : 48558435637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Identify the main features of capability approach to Human Development.

A This 1s the oldest approach to Human Development.

B. This approach was initially proposed by International Labour Organisation.
C. This approach 1s associated with Prof. Amartya Sen.

D. Access to resources 1s the key to inereasing human development.

Choose the correct answer from the options given below:

1. C and A only

[ ]

. C and D only
3. Aand B only

4. Aand D only

Options :

485584142545 1
485584142546.2
485584142547. 3
485584142548. 4

Question Number : 122 Question Id : 48558435637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

U4 [GHTH o &Hdl SUNTH &I o7 [a=¥d g 2

A T8 914 A®™ &1 yHHTH SurTE B |

B. 3H GUNTH 1 Y= H SR 46 T8 - udid foan un|
C. U8 IUNTH U1 3\ O9 ¥ gafid gl

D. TH1eE| d Ugd dgd HIFd [db ™ & ol ¢ |

i fau U f[deredl | ¥ Uel 3R &1 98- DI |
1. %ad C 3R A
2.%dd C AR D
3.%ad A IR B
4. Fad AIRD

Options :

485584142545 1
485584142546. 2
485584142547. 3
485584142548. 4



Question Number : 123 Question Id : 48558435638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following does not fall on Trans-Siberian Railway route?

A. Regina

B. Baku

C. Moscow

D. Khabarovsk
E. Ulan Bator

Choose the correct answer from the options given below:

1. B and D only

| ]

. C and D only

Lad

. B and E only

4. D and E only

Options :

485584142549. 1
485584142550. 2
485584142551. 3
485584142552. 4

Question Number : 123 Question Id : 48558435638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




FafaRad 5 ¥ &F oY - Trsaiars 3@ AN W T gSdi g 2
A AT
B.dl%
C. %]
D. ARG
E. 3@ dciR
g fau e faeredi | © 98! ST &1 994 S
1. HIdB AR D
2. %Had C IRD
3. PadAB IR E
4. HIAD IR E

Options :

485584142549. 1
485584142550. 2
485584142551. 3
485584142552. 4

Question Number : 124 Question Id : 48558435639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Green Revolution 1s successtul in North Western part of the country. select the reasons.

A. Ample rainfall

B. Use of high vielding varicties of seeds

C. Easily available local labour

D. More employment pressure on agriculture

E. 85% net sown area is cultivated through wrrigation

Choose the correct answer from the options given below:

1. B and E only

| )

.A.Band C only

Lad

.A.Band D only

4. C and D only

Options :
4855841425531
485584142554.2



485584142555. 3
485584142556. 4

Question Number : 124 Question Id : 48558435639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

BT Hifd <2 & IR Ul UM ¥ 9% a W61 3| 599 SR G

A TR 9IRET

B. (¥ IS - dTcd dlicll B el BT 3T
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E. TG a1 O aTdl 85% &3 &1 (91 ar1 adl

A feu e famed! & ¥ Hel ST o 90 S -
1. $ad B 3R E
2. PIAABAHRC
3.%ad A. B 3R D
4. %9 C3ARD

Options :

485584142553. 1
485584142554. 2
485584142555. 3
485584142556. 4

Question Number : 125 Question Id : 48558435640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Identify the push factors of migration from the following:

A. Unemployment

B. Political turmoil

C. Peace and Stability

D. Socio-economic backwardness
E. Security of life and poverty

Choose the correct answer from the options given below:

1. A, B and C only

| )

.C.D and E only

Lad

.A. Cand D only
4. A, B and D only

Options :

485584142557. 1
485584142558.2
485584142559. 3
485584142560. 4

Question Number : 125 Question Id : 48558435640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

frgfafad & var & ufded aRS| 3 ugaH S -
A, SRIGTRY
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D. IrAfod snffe fOwem
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1. FIAA B AR C
2. %A C, D AHRE
3. PadA. C 3RD

4. HIAA. B IRD

Options :
485584142557. 1
485584142558.2



485584142559. 3
485584142560. 4

Question Number : 126 Question Id : 48558435641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Arrange the following states in ascending order in terms of their literacy rate according to (Census 2011):

A. Gujarat

B. Uttar Pradesh
C. Bihar

D. Punjab

Choose the correct answer from the options given below:
1.LAD.B.C

2.A.D.C.B

3.C.B.D. A
4 C.B.AD

Options :

485584142561. 1
485584142562. 2
485584142563. 3
485584142564. 4

Question Number : 126 Question Id : 48558435641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




{141 T 1 FTeBT FIERT G2 (FHIUMT 2011) & HRIE! PHFHR HIRUd HIWT :

A ToRTd
B. SR UcY
c. faer

D. 99§
i fau v fowedl § 9§ 981 3R &1 987 Hifolu
1.LADB.C
2.AD.CB
3.C.B.D.A
4. C.B,A. D

Options :

485584142561. 1
485584142562. 2
485584142563. 3
485584142564. 4

Question Number : 127 Question Id : 48558435642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Arrange the following Radio broadcasting development mn chronological order:

A. Radio broadeasting started by the Radio club of Bombay
B. Changed to Akashwani

C. Changed to All India Radio

D. Broadeasting system adopted

Choose the correct answer from the options given below:
1.D.A,B.C
2.AD.C.B
3.D.A.C.B

4 A B.C.D

Options :

485584142565. 1
485584142566. 2
485584142567. 3
485584142568. 4



Question Number : 127 Question Id : 48558435642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

[ XS TR AT DI DIABHFHR oUaedd BT :
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B. 54 da0I SHIHIREm fogr 7T

C. 34 gga® 30 svegr ISl fhar 1

D. TR YUTel iR &1 75
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1.D.AB.C

2ADCB
3. D.AC.B
4. A B.C.D

Options :

485584142565. 1
485584142566. 2
485584142567. 3
485584142568. 4

Question Number : 128 Question Id : 48558435643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Paper industry 1s mainly associated with which of the following mdustries?

1. Forest - based
2. Mineral - based
3. Agro - based
4. Chemical - based

Options :

485584142569. 1

485584142570. 2

485584142571. 3
485584142572. 4



Question Number : 128 Question Id : 48558435643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

BT I -5 H 9 e forw SarT 4 Hafia g 2
L. G {1
2. @i e
3. P YT

4, THIGA TR

Options :

485584142569. 1
485584142570. 2
485584142571. 3
485584142572 4

Question Number : 129 Question Id : 48558435644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The first complete population census in India was conducted in which of the following years?

1. 1881

[ )

. 1872
3. 1891

4. 1951

Options :

485584142573. 1
485584142574.2
485584142575. 3
485584142576. 4

Question Number : 129 Question Id : 48558435644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

|Key 'Value




|Comprehension |MCQ

fFrafeRad o ¥ foog av yRd @ gl SuEr &1 115 of 2

1. 1881

[ ]

. 1872

. 1891

(5]

4, 1951

Options :

485584142573. 1
485584142574. 2
485584142575. 3
485584142576. 4

Question Number : 130 Question Id : 48558435645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s not a part of watershed managed programme in India?
1. Haryali
2. Neeru-Meeru
3. Khushhali
4. Arvary Pani Sansad

Options :

485584142577. 1
485584142578. 2
485584142579. 3
485584142580. 4

Question Number : 130 Question Id : 48558435645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142577. 1
485584142578.2
485584142579. 3
485584142580. 4

Question Number : 131 Question Id : 48558435646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The land left out of cultivation for one or less than one agriculture year 1s known by which of the following?

1. Barren land

[ )

. Current fallow
3. Fallow other than current fallow

4, Cultural waste-land

Options :

485584142581. 1
485584142582.2
485584142583. 3
485584142584. 4

Question Number : 131 Question Id : 48558435646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142581. 1
485584142582. 2
485584142583. 3
485584142584. 4

Question Number : 132 Question Id : 48558435647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Match List I with List IT

LISTI LISTII
Minerals Places
A | Coal I. | Talcher
B. | Iron II. | Maikal Hills
C. | Copper ITT. | Mayurbhang
D. | Bauxite IV. | Khetr1

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV, D-II

| ]

CA-L B-III, C-I1. D-IV

(%]

CA-LB-ILL C-IV, D-IIT
4. A-IIL B-II. C-L, D-IV

Options :

485584142585. 1
485584142586.2
485584142587. 3
485584142588. 4

Question Number : 132 Question Id : 48558435647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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1. A-I. B-III. C-IV. D-II
2. A-L. B-II. C-II. D-IV
3. A-L B-II. C-IV, D-III
4, A-ITL, B-I1. C-1. D-IV

Options :

485584142585. 1
485584142586. 2
485584142587. 3
485584142588. 4

Question Number : 133 Question Id : 48558435648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

In which one of the following states. people live m compact villages for security and defence purposes?

1. Nagaland

| )

. Uttar Pradesh
3. Bihar

4, Maharashtra

Options :
485584142589. 1
485584142590. 2




485584142591. 3
485584142592. 4

Question Number : 133 Question Id : 48558435648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
frafarad o 9 fod Ireg o o7 Y& 9yl §=1d g 99+ Tial 1 36d 32
1. AN S
2. IR UG

fagR
4. HgRTY

Options :

485584142589. 1
485584142590. 2
485584142591. 3
485584142592. 4

L]

Question Number : 134 Question Id : 48558435649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The Silicon Valley near San Francisco and Silicon Forest near Seattle are example of which type of mndustry?
1. Iron and Steel
2. Cotton Textile
3. high tech

4, Cement

Options :

485584142593. 1
485584142594. 2
485584142595. 3
485584142596. 4

Question Number : 134 Question Id : 48558435649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1



Question Key Details :

Comprehensio Mc
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1. W8T 3R S31d
2. gl pug
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Options :

485584142593. 1
485584142594. 2
485584142595. 3
485584142596. 4

Question Number : 135 Question Id : 48558435650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ

As per the Census of India 2011, the level of urbanisation in India 13

1. 21.16 percent

[ )

. 41.16 percent

LFN]

. 33.76 percent
4.31.16 percent

Options :

485584142597. 1
485584142598. 2
485584142599. 3
485584142600. 4

Question Number : 135 Question Id : 48558435650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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3. 33.76 UfRrd
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Options :

485584142597. 1
485584142598. 2
485584142599. 3
485584142600. 4

| ]

Question Number : 136 Question Id : 48558435651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
India accounts for about  percent of the World's surface area.
1. 4.00
2.245
3.3.76
4.17.16

Options :

485584142601. 1
485584142602. 2
485584142603. 3
485584142604. 4

Question Number : 136 Question Id : 48558435651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142601. 1
485584142602. 2
485584142603. 3
485584142604. 4

Question Number : 137 Question Id : 48558435652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The Jal Kranti Abhiyan was launched in

1.2015-16

[ )

. 2014-15
3. 2018-19
4. 2004-05

Options :

485584142605. 1
485584142606. 2
485584142607. 3
485584142608. 4

Question Number : 137 Question Id : 48558435652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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1.2015-16

| ]

. 2014-15

. 2018-19

[#5]

4, 2004-05

Options :

485584142605. 1
485584142606. 2
485584142607. 3
485584142608. 4

Question Number : 138 Question Id : 48558435653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

National Waterway 2 stretch extends between

1. Allahabad-Haldia

| ]

. Kottapuram-Kollam

. Sadiya-Dhubri

L]

4. Patna-Haldia

Options :

485584142609. 1
485584142610. 2
485584142611.3
485584142612. 4

Question Number : 138 Question Id : 48558435653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

4855841426009. 1
485584142610. 2
485584142611.3
485584142612. 4

Question Number : 139 Question Id : 48558435654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

port is situated at the Zuari estuary.

1. Marmagao

| ]

. Kandla

. New Mangalore

L]

4. Paradwip

Options :

485584142613. 1
485584142614.2
485584142615. 3
485584142616. 4

Question Number : 139 Question Id : 48558435654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142613. 1
485584142614. 2
485584142615. 3
485584142616. 4

Question Number : 140 Question Id : 48558435655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

As per Census of India 2011, the population density was highest in

1. West Bengal

| )

. Uttar Pradesh
3. Goa

4. Bihar

Options :

485584142617. 1
485584142618. 2
485584142619. 3
485584142620. 4

Question Number : 140 Question Id : 48558435655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142617. 1

485584142618.2

485584142619. 3
485584142620. 4

Sub-Section Number : 2
Sub-Section Id : 4855842642
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 141 Question Id : 48558435656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl




Study the map carefully and answer the question.

HARIKE BARRAGE /[

INDIRA GANDHI CANAL o
COMMAND AREA 2

4 J -
f W LEALMER RA JASTHAN
: COMMAMND AREA
T L I:I HNpER .'_"_D\‘.'} Slaga |
i bl s UNDERLIFT
R, N y
w - UNDER FLOWY

Sitage 11
b WEAHMER B unCeRLFT "

~ Main
e Caaraal Tail
b

. v Enlrmalional Beundary
% = e Ele Boundury
Dirtict Bovndiry
Cormnsand bres

Which of the following 1s the general direction of main canal shown on the map?

1. North to South

[ ]

. South to North

Lad

. South-West to North-East
4, North-East to South-West

Options :

485584142621. 1
485584142622. 2
485584142623. 3
485584142624. 4

Question Number : 141 Question Id : 48558435656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension Compl
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Options :

485584142621. 1
485584142622.2
485584142623. 3
485584142624. 4

Question Number : 142 Question Id : 48558435657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl




Study the map carefully and answer the question.

HARIKE BARRAG

INDIRA GANDHI CANAL ]
COMMAND AREA

a <
i ¥l e
Fi o
4
i iy g
f 5,
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i
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m 35 ] ™ T L)
L L L L | “

Identify the districts through which the main canal 15 passing.

A. Chur

B. Ganganagar
C. Bikaner

D. Jaisalmer
E. Barmer

Choose the correct answer from the options given below:
1. B. C and D only
2.B. C and E only
3.A Band D only

4. A, B and C only

Options :

485584142625. 1
485584142626. 2
485584142627. 3
485584142628. 4



Question Number : 142 Question Id : 48558435657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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3. %34 A. B R D
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Options :

485584142625. 1
485584142626. 2
485584142627. 3
485584142628. 4

Question Number : 143 Question Id : 48558435658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl




Study the map carefully and answer the question.

INDIRA GANDHI CANAL
COMMAND AREA

Ff WLEALMER RA JASTHAN
{ COMMAND AREA

~ Main
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Identify the districts where Stage II areas are located.

A. Ropar

B. Bikaner
C. Barmer
D. Jaisalmer

Choose the correct answer from the options given below:
1. Aand B only
2. Aand C only
3. Aand D only

4. B. C and D only

Options :

485584142629. 1
485584142630. 2
485584142631. 3
485584142632. 4

Question Number : 143 Question Id : 48558435658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl
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1. %ad A 3R B
2. PaAASRC
3.%ad A 3R D
4. Had B, C IR D

Options :
485584142629. 1




485584142630. 2
485584142631. 3
485584142632. 4

Question Number : 144 Question Id : 48558435659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension Compl

Study the map carefully and answer the question.

i
HARIKE BARRAGE &

INDIRA GANDHI CANAL e
COMMAND AREA 2

: WLEALMER RA JASTHAN

e Main COMMAMND AREA
e Caaraal Tail :
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Gravity flow of canal water 1s majorly found in which one of the following?
1. South side of the command area
2. Left side of the main canal
3. Right side of the main canal

4, North side of the command area

Options :

485584142633. 1
485584142634. 2
485584142635. 3



485584142636. 4

Question Number : 144 Question Id : 48558435659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl
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Arrange the following districts from north to south direction.

A Bikaner

B. Barmer

C. Jaisalmer

D. Ganganagar

Choose the correct answer from the options given below:

1.D,A,B.C

2.D.A.C.B

3.D,C,A.B
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Study the passage and answer the following question:

Benda lives i the wilds of the Abujh Maad area of central India. His village consists of three huts deep i the
wilds. Not even birds or stray dogs that usually crowd villages can be seen in these areas. Wearing a small loin
cloth and armed with his axe he slowly surveys the penda (forest) where his tribe practices a primitive form of
agriculture called shifting cultivation. Benda and his friends burn small patches of forest to clear them for
cultivation. The ash is used for making the soil fertile. Benda is happy that the Mahua trees around him are in
bloom. How lucky I am to be a part of this beautiful universe, he thinks as he looks up to see the Mahua,
Palash and Sal trees that have sheltered him since childhood. Crossing the penda in a gliding motion. Benda
makes his way to a stream. As he bends down to scoop up a palmful of water, he remembers to thank Loi-
Lugi. the spirit of the forest for allowing him to quench his thirst. Moving on with his friends, Benda chews on
succulent leaves and roots. The boys have been trying to collect Gajjhara and Kuchla, from the forest. These
are special plants that Benda and his people use. He hopes the spirits of the forest will be kind and lead him to
these herbs. These are needed to barter in the madhai or tribal fair coming up the next full moon. He closes his
eyes and tries hard to recall what the elders had taught him about the herbs and the places they are found in.
He wishes he had listened more carefully. Suddenly there is a rustling of leaves. Benda and his friends know it
is the outsiders who have come searching for them in the wilds. In a single fluid motion Benda and his friends
disappear behind the thick canopy of trees and become one with the spirit of the forest.

To which one of the following 'Benda' represents as given in the passage?

1. Tribe living i the area

[ ]

. Weaver
3. Trader

4. Fisherman

Options :

485584142641. 1
485584142642. 2
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485584142644. 4
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Study the passage and answer the following question:

Benda lives i the wilds of the Abujh Maad area of central India. His village consists of three huts deep i the
wilds. Not even birds or stray dogs that usually crowd villages can be seen in these areas. Wearing a small loin
cloth and armed with his axe he slowly surveys the penda (forest) where his tribe practices a primitive form of
agriculture called shifting cultivation. Benda and his friends burn small patches of forest to clear them for
cultivation. The ash is used for making the soil fertile. Benda is happy that the Mahua trees around him are in
bloom. How lucky I am to be a part of this beautiful universe, he thinks as he looks up to see the Mahua,
Palash and Sal trees that have sheltered him since childhood. Crossing the penda in a gliding motion. Benda
makes his way to a stream. As he bends down to scoop up a palmful of water, he remembers to thank Loi-
Lugi. the spirit of the forest for allowing him to quench his thirst. Moving on with his friends, Benda chews on
succulent leaves and roots. The boys have been trying to collect Gajjhara and Kuchla, from the forest. These
are special plants that Benda and his people use. He hopes the spirits of the forest will be kind and lead him to
these herbs. These are needed to barter in the madhai or tribal fair coming up the next full moon. He closes his
eyes and tries hard to recall what the elders had taught him about the herbs and the places they are found in.
He wishes he had listened more carefully. Suddenly there is a rustling of leaves. Benda and his friends know it
is the outsiders who have come searching for them in the wilds. In a single fluid motion Benda and his friends
disappear behind the thick canopy of trees and become one with the spirit of the forest.

To which one of the following 'Penda’ 1s referred in the text?

1. A tribe

[ ]

A hut

3. Forest

4. Succulent leaves

Options :

485584142645. 1
485584142646. 2
485584142647. 3
485584142648. 4
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Study the passage and answer the following question:

Benda lives i the wilds of the Abujh Maad area of central India. His village consists of three huts deep i the
wilds. Not even birds or stray dogs that usually crowd villages can be seen in these areas. Wearing a small loin
cloth and armed with his axe he slowly surveys the penda (forest) where his tribe practices a primitive form of
agriculture called shifting cultivation. Benda and his friends burn small patches of forest to clear them for
cultivation. The ash is used for making the soil fertile. Benda is happy that the Mahua trees around him are in
bloom. How lucky I am to be a part of this beautiful universe, he thinks as he looks up to see the Mahua,
Palash and Sal trees that have sheltered him since childhood. Crossing the penda in a gliding motion. Benda
makes his way to a stream. As he bends down to scoop up a palmful of water, he remembers to thank Loi-
Lugi. the spirit of the forest for allowing him to quench his thirst. Moving on with his friends, Benda chews on
succulent leaves and roots. The boys have been trying to collect Gajjhara and Kuchla, from the forest. These
are special plants that Benda and his people use. He hopes the spirits of the forest will be kind and lead him to
these herbs. These are needed to barter in the madhai or tribal fair coming up the next full moon. He closes his
eyes and tries hard to recall what the elders had taught him about the herbs and the places they are found in.
He wishes he had listened more carefully. Suddenly there is a rustling of leaves. Benda and his friends know it
is the outsiders who have come searching for them in the wilds. In a single fluid motion Benda and his friends
disappear behind the thick canopy of trees and become one with the spirit of the forest.

Benda went to the forest for

1. hunting

[ ]

. bringing wood
3. collecting herbs

4. cultivating land

Options :

485584142649. 1
485584142650. 2
485584142651. 3
485584142652. 4
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Study the passage and answer the following question:

Benda lives i the wilds of the Abujh Maad area of central India. His village consists of three huts deep in the
wilds. Not even birds or stray dogs that usnally crowd villages can be seen in these areas. Wearing a small loin
cloth and armed with his axe he slowly surveys the penda (forest) where his tribe practices a primitive form of
agriculture called shifting cultivation. Benda and his friends burn small patches of forest to clear them for
cultivation. The ash is used for making the soil fertile. Benda is happy that the Mahua trees around him are in
bloom. How lucky I am to be a part of this beautiful universe, he thinks as he looks up to see the Mahua,
Palash and Sal trees that have sheltered him since childhood. Crossing the penda in a gliding motion. Benda
makes his way to a stream. As he bends down to scoop up a palmful of water, he remembers to thank Loi-
Lugi. the spirit of the forest for allowing him to quench his thirst. Moving on with his friends, Benda chews on
succulent leaves and roots. The boys have been trying to collect Gajjhara and Kuchla, from the forest. These
are special plants that Benda and his people use. He hopes the spirits of the forest will be kind and lead him to
these herbs. These are needed to barter in the madhai or tribal fair coming up the next full moon. He closes his
eyes and tries hard to recall what the elders had taught him about the herbs and the places they are found in.
He wishes he had listened more carefully. Suddenly there is a rustling of leaves. Benda and his friends know it
is the outsiders who have come searching for them in the wilds. In a single fluid motion Benda and his friends
disappear behind the thick canopy of trees and become one with the spirit of the forest.

Which one of the following products were collected by Benda?

1. Loi - Lung:

[ ]

. Gajjhara and Kuchla
3. Mahua and Palash

4. Sal and Neem

Options :

485584142653. 1
485584142654. 2
485584142655. 3
485584142656. 4
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Study the passage and answer the following question:

Benda lives i the wilds of the Abujh Maad area of central India. His village consists of three huts deep in the
wilds. Not even birds or stray dogs that usnally crowd villages can be seen in these areas. Wearing a small loin
cloth and armed with his axe he slowly surveys the penda (forest) where his tribe practices a primitive form of
agriculture called shifting cultivation. Benda and his friends burn small patches of forest to clear them for
cultivation. The ash is used for making the soil fertile. Benda is happy that the Mahua trees around him are in
bloom. How lucky I am to be a part of this beautiful universe, he thinks as he looks up to see the Mahua,
Palash and Sal trees that have sheltered him since childhood. Crossing the penda in a gliding motion. Benda
makes his way to a stream. As he bends down to scoop up a palmful of water, he remembers to thank Loi-
Lugi. the spirit of the forest for allowing him to quench his thirst. Moving on with his friends, Benda chews on
succulent leaves and roots. The boys have been trying to collect Gajjhara and Kuchla, from the forest. These
are special plants that Benda and his people use. He hopes the spirits of the forest will be kind and lead him to
these herbs. These are needed to barter in the madhai or tribal fair coming up the next full moon. He closes his
eyes and tries hard to recall what the elders had taught him about the herbs and the places they are found in.
He wishes he had listened more carefully. Suddenly there is a rustling of leaves. Benda and his friends know it
is the outsiders who have come searching for them in the wilds. In a single fluid motion Benda and his friends
disappear behind the thick canopy of trees and become one with the spirit of the forest.

At which of the following places, Benda exchanges collected herbal parts?

1. Village Market

[ ]

. Madhai tribal fair
3. Town Market

4. Loi-Lungi

Options :

485584142657. 1
485584142658. 2
485584142659. 3
485584142660. 4
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